OTOMOE]

ZHUZHOU OTOMO ADVANCED MATERIAL CO.,LTD




3K

Contents
7] }:|L *j- B'-"i {I\ 273 Inserts Grades System 1
TGF32RENMET] mm oo 2~5
GBAASBYIRET] mm e 6~7
T/ EMET]  m oo o 8~9
GRIBHIMET] e 10~11
GEPNFLAIET] s e 12~14
GE-DD/EESREFIMET] = — = mmmmm s 15~16
VNF/VC11/VC16 FIFL ik E £ 7] e 17~18
M10 NFLISE E#E 7] e 19
FVC1604 B EPIHET] == m e e e o 20
MBIZE/PNFLRE T] = mrmm e e 21~22
TKFE12/16E0REFIWTT] = —mmm s s 23~24
CTP/CTPALIRELIMTT] — o mm s s st 25~26
MGGN/MGMNEIRE BT T] === = mm e e e 27~30
TDC/TDJ HIRELIEIT] = mm e e e e e e 31~32
TQJ27 FUABEHIHET] — o oo ool 33~34
PENTA24 A EYIET] ——m o s s oo 35~36
PENTA3 HAEYIMET] — == m e e 37~38
TTX32BLIZET] = mrmm e 39
TT32WBEZET]  mmem e 40
TKFT12/16 BBEIZET] = —rmom e 41
TTP/TTPABBLTZET]  m ool 42
ABS/ABWREZET]  mrmm e 43~44
P 1 U g L S A R 45
INGG 46
WNGG 47
UNGG 48
TBGT/TBGH/TCET/TPGH m ot st st oottt ettt ettt ettt m e 49
GCGT 50
DCGT e 51
VB/VG/VPGT oo e m 52
WBGT 53



TR M BRI 4

Inserts Grades System

"_____ [[iz=3 itk _____',
Toughness

Wear resistance

1Iso, 01 10 20 30 40

T 15r4%

workpiece

P  otorzzs
it  ororezs
G

Steel
OTO7226
Z:%@%@ OTO7225C
Stainless
OTO7225

steel

K

HER

JEERAA H

Nonferrous

OTO7225C
0T07225C General grade for steel,stainless steel.

OTO7225

Oerlikon Balzas coating.0T07225 is a general grade for steels which HRC below 58,also
applied for stainless steels ,prefer steel materials. It has excellent performance in
normal conditions.

OTO7226

Oerlikon Balzas coating.0T07226 grade for it has excellent performance in stainless
steels,such as 304,316L.1t also good for Titanium alloy.

H10 Coating: Uncoated
H10 is the first option for aluminum alloy,copper and other non-ferrous materials.

OTO1000
0T01000 is a cerment carbide grade,first option for steel finishing.

1



TGF32%XEJ] R

W
TGF32 shallow grooving inserts R\ R
= |
T\
7+} _ 1 'g
BTAhsF18 T o
Right-hand Tool shown —‘Lﬁn%ﬁmm
BE R~ MR

Designation Dimensions Grades
AFE Right | £ F Left A T |ed| W L R | oT107225 | OTO7225C | OTO7226 H10
TGF32R033 TGF32L033 0.33 ® ® ® ®

0. 80
TGF32R040 TGF32L040 0. 40 ® ® ® ®
TGF32R050 TGF32L050 0.50 | 1.20 ® ® ® ®
TGF32R060 TGF32L060 0.60 |, 4o ® [ ] ® ®
TGF32R070 TGF32L070 0.70 0.05 ® ® ® ®
TGF32R075 TGF32L075 0.75 (] ® (] [ ]
TGF32R080 TGF32L080 0. 80 ® ® ® ®
TGF32R085 TGF32L085 0.85 | 2.00 [ ] ® [ ] [ ]
TGF32R090 TGF32L090 0.90 ® ® ® ®
TGF32R095 TGF32L095 0.95 ® ® ® ®
TGF32R100 TGF32L100 1.00 [ ] ® (] ®
TGF32R105 TGF32L105 1.05 ® ® ® ®
TGF32R110 TGF32L110 1.10 ® ® [ ] ®
TGF32R115 TGF32L115 1.15 ® ® ® ®
TGF32R120 TGF32L120 1.20 | 2.20 ® ® ® ®
TGF32R125 TGF32L125 | o coe|3.48| 4.q |1-25 ® ® ® ®
TGF32R130 TGF32L130 1.30 [ ] [ ] [ ] [ ]
TGF32R135 TGF32L135 1.35 [ ] ® [ ] (]
0.10

TGF32R140 TGF32L.140 1.40 ® ® ® ®
TGF32R145 TGF32L.145 1.45 [ ® @ ®
TGF32R150 TGF32L150 1.50 ® ® ® ®
TGF32R160 TGF32L160 1.60 [ ] ® [ ] [ ]
TGF32R170 TGF32L170 1.70 ® ® ® ®
TGF32R175 TGF32L175 1.75 | 2.70 ® ® ® ®
TGF32R180 TGF32L180 1.80 ® ® ® ®
TGF32R185 TGF32L185 1.85 ® [ ] ® ®
TGF32R190 TGF32L190 1.90 ® ® ® ®
TGF32R200 TGF32L200 2.00 ® ® ® ®
TGF32R210 TGF32L210 2.10 [ ] [ ] [ ] [ ]
TGF32R220 | TGF32L220 220 . o ® ® ® ®
TGF32R225 TGF321.225 2.25 ® ® ® ®
TGF32R230 TGF32L230 2.30 [ ] ® [ ] ®
TGF32R240 TGF32L.240 2.40 ® ® ® ®

\o]
-
pai



¥ {3:mm

Unit:mm
itk R~ MR
Designation Dimensions Grades
BF Right | £F Left A T [®ed| W | L [ R | oror2ss (oTO7225C | OTO7226 | H10
TGF32R250 TGF32L250 2.50 ® ® ® ®
TGF32R260 TGF32L260 2.60 ® ® ® ®
TGF32R265 TGF32L265 2.65 ® ® ® ®
TGF32R270 TGF32L270 2.70 ® ® ® ®
TGF32R275 TGF32L275 2.75 ® ® ® ®
TGF32R280 TGF321.280 2.80 ® ® ® [ ]
TGF32R285 TGFa2loss | 2-925(3-18 4.4 5755 320 | 0-20 ® ® @ ®
TGF32R290 TGF32L290 2.90 ® ® ® ®
TGF32R295 TGF32L295 2.95 [ ] [ ] [ ] ®
TGF32R300 TGF32L300 3.00 ® [ ] [ ] ®
* TGF32R310 | *TGF32L310 3.10 ® @ @ ®
% TGF32R315 | *TGF32L315 3.15 ® ® ® ®
% TGF32R320 | *TGF32L320 3.20 ® [ ] [ ] [ ]

1
AMPHORTARERRT, TARBEEP FEL, RMIFRRT AR, FME, LITE10054 .
Table sizes are the standard product sizes, we can be based on customerneeds, customized non-standard size of the insert.Minimum orderquantity of each specificationis 100 pieces.

TGF32 &N X&)

TGF32 Full Radius Shallow Grooving Inserts

W
R
-
*}\
<
|
REALFAR T
Right-hand Tool shown 3 42omm
Unit:mm
=
BE R MR
Designation Dimensions Grades
HEFERight | £F Left | A | T |ed| W | L | R | oto7225|0To7225¢| OToO7226|  H10
TGF32R040-R0.20 | TGF32L040-R0.20 0.40 | 1.00 | 0.20 @ [ ® ®
TGF32R050-R0.25 | TGF32L050-R0.25 0.50 | 1.20 [0.25 ® ® ® ®
TGF32R060-R0.30 | TGF32L060-R0.30 0.60 | 1.40 [0.30 ® ® ® ®
TGF32R080-R0.40 | TGF32L080-R0.40 0.80 | 2.00 [ 0.40 ® ® ® ®
TGF32R100-R050 | TGFa2L100R050 | 9.5253.18( 4.4 | 1.00 | 0.50 ® ® ® ®
TGF32R120-R0.60 | TGF32L120-R0.60 1.20 | 0.60 ® [ ] [ ] ®
TGF32R150-R0.75 | TGF32L150-R0.75 1.50 2 0.75 ‘ ‘ ‘ ‘
TGF32R200-R1.00 | TGF32L200-R1.00 2.00 ’ 1.00 ‘ ‘ ‘ ‘
TGF32R250-R1.25 | TGF32L250-R1.25 2.50 1.25 ® ® ® ®
3.20
TGF32R300-R1.50 | TGF32L300-R1.50 3.00 1.50 ® ® ® ®




KTGF-F]# J] #Fxms

KTGF-F External Grooving Toolholders(Without Offset)

. T - -
.
22 a 52 T
| @) | =
XN
] BFALEFIL
- Right-hand Tool shown
8= R~ e EH
Designation Dimension Spare Parts
Inserts  ewma| BEET
. i3 bz
& F Right EF Left H| Hi|H2  h| B|F L Scrow  |Torex Wrench
KTGFR1010H-16F | KTGFL1010H-16F | 10 2 10 | 10 | 10 TGF32R***
(HEFAHBREFTR)
KTGFR1212H-16F | KTGFL1212H-16F | 12 12 | 12 | 12 [ 100 | (R-hand Toolholder For
R-hand inserts)
_ ) M4*8 T15
KTGFR1616H-16F | KTGFL1616H-16F | 16 | 2.5 16 | 16 | 16 TGF32L %%%
KTGFR2020K-16F KTGFL2020K-16F | 20 20 | 20| 20 | 125 | (EFAARETAH)
( L-hand Toolholder For
KTGFR2525M-16F | KTGFL2525M-16F | 25 25 | 25| 25 [ 150 [L-handinserts)
1 AU B E R LAY KA AT e imm
Itis necessary to use “Without Offset Type”in operating the automatic lathe.
it} .
KTGF VI8 T M (5@
KTGF External Grooving Toolholders (with Offset)
|
g l
a 5° T
i
= @ | - S
BrAEFIL
£ Right-hand Tool shown
) =2
25 Rt e
Designation Dimension BEETIR Spare Parts
Inserts
. 25T | MIEIRF
A F Right £ F Left H| Hi | H2| h B | F L St || S
KTGFR1010H-16 | KTGFL1010H-16 | 10 4 10 | 10 | 12 TGF32R***
(BEFNRBEEIH )
KTGFR1212H-16 | KTGFL1212H-16 | 12 2 12 | 12 | 16 | 100 | (R-hand Toolholder For
R-hand inserts ) Ma*8 T15
6H-16 | KTGFL1616H-16 | 16 | 2. 16 | 16 | 20
KTGFR161 5 TGF32L%%*
KTGFR2020K-16 KTGFL2020K-16 | 20 20 | 20 | 25 | 125 | (EFTIHBREFIIA)
( L-hand Toolholder For
KTGFR2525M-16 | KTGFL2525M-16 | 25 25 | 25 | 32 | 150 |L-handinserts)
¥ A5
VR Sk IR R Sk 8 K A Unit-mm

The difference bettwn KTGF-F and KTGF toolholders :

i1 B

o [



B-KTGF H T] B 5N #E T) 41

B-KTGF “L-styled” External Grooving Toolholeder

KTGFSR/L1010% ¢ 77 4% & @2mm

KTGFSR/L1010 Protruding 2 mm from the surface of the toolholder

- : 5
£ t
L
BrALEFNR
£ Left-hand Tool shown
KTGFSR/L1010% th 77 4F & @2mm
KTGFSR/L1010 Protruding 2 mm from the surface of the toolholder
) =
B= R~t FH
Designation Dimension BEIIH Spare Parts
. Inserts B2 4T IR F
EF Left AF Right H| H | B|F |Fi|L sorow | Tonciirench
B-KTGFL1212H16 | B-KTGFR1212H16 | 12 12 | 16 | 20 TGF32R***
100 &F R BEF A
B-KTGFL1616H16 | B-KTGFR1616H16 | 16 16 | 20 | 24 (R hano inserts “Forl-hand
25 oolholder) M4*8 T15
B-KTGFL2020K16 | B-KTGFR2020K16 | 20 20 | 25 | 30 | 125 TGF32L **x*
EF 7 KB F A
L-hand inserts For R-hand
B-KTGFL2525M16 | B-KTGFR2525M16 | 25 25 | 32 | 35 | 150 | Goomatanerts ForRne
#4z:mm
Unit:mm
TGF32 N fLUI#E T
TGF32 Internal Grooving Toolholeder
‘ ?
g ¢
H N
L
BrAhLEFIE
Right-hand Shown
25 Rt T
Designation O BEEJR Spare Parts
. Inserts 1257 miERF
Left Right i G
kF e E F g H d1 L |Dmin Screw Torx Wrench
S16N-KTGFL16 S16N-KTGFR16 | 15 16 160 | 20 TGF32R***
& F KB EF AT
S20Q-KTGFL16 S20Q-KTGFR16 | 19 20 | 180 | 24 | (R-hand inserts ForL-hand Toolholder)
M4*8 T15
S25R-KTGFL16 S25R-KTGFR16 | 23 | 25 | 200 | 29 TGF32L ***
CEFAKREF M
S$32S-KTGFL16 | S32S-KTGFR16 | 30 | 32 | 250 | 36 [ (-"andineerts ForRehand Toolholden
¥ fz:mm
Unit:mm




GBA43 R X 1J11E T]

GBA43 shallow Grooving Inserts

w

A 1\
\ 1%
N |
- Righ]iﬂ—:;fdtTjoiljicwn T ¥ fz:mm
Unit:mm
itk R~f MR
Designation Dimensions Grades
A F Right i F Left A T |¢d| W L R | OTO7225 |OTO7225C | OTO7226 H10
GBA43R100 GBA43L100 1.00 ® ® ® ®
GBA43R120 GBA43L120 1.20 | 2.2 ® [ ] ® ®
GBA43R125 GBA43L125 1.25 0.1 ® ® ® ®
GBA43R140 GBA43L140 1.40 ® ® @ ®
GBA43R145 GBA43L145 1.45 ® ® ® ®
GBA43R150 GBA43L150 1.50 ® ® ® ¢
GBA43R170 GBA43L170 1.70 ® ® ® ®
GBA43R175 GBA43L175 175 | 3.5 ® ® ® ®
GBA43R185 GBA43L185 1.85 ® ® ® ®
GBA43R200 GBA43L200 2.00 o2 @ [ @ ®
GBA43R225 GBA43L225 2.25 ' ® [ ] ® ®
GBA43R230 GBA43L230 2.30 ® ® ® ®
GBA43R250 GBA43L250 2.50 ® ® @ ®
GBA43R265 GBA43L265 | 12.7 |4.76 (5.4|2.65 ® ® ® [
GBA43R280 GBA43L280 2.80 [ ] [ ] ® ®
GBA43R300 GBA43L300 3.00 ® [ ] [ ] [ ]
GBA43R330 GBA43L330 3.30 ® ® ® ®
GBA43R350 GBA43L350 3.50 | 5.0 ® @ @ [
GBA43R360 GBA43L360 3.60 - @ ® ® ®
GBA43R400 GBA43L400 4.00 . ® ® ® ¢
GBA43R420 GBA43L420 4.20 ® ® @ ®
GBA43R450 GBA43L450 4.50 ® ® ® ®
GBA43R480 GBA43L480 4.80 ® ® ® ®




GBA43 & % 1)]{E 7]

GBAA43 shallow Grooving Inserts

N EEP PSR
Right-hand Tool shown ¥ {z:mm
Unit:mm
2= R~ # R
Designation Dimensions Grades
£ F Right I F Left A T W | L | R |oT07225 Ppro7225¢ |0TO7226 H10
GBA43R100-R050 | GBA43L100-R050 1.00| 2.00 [ 0.50 [ ] [ ] [ ] [
GBA43R120-R060 | GBA43L120-R060 1.20 0.60 ® [ ] ® ®
GBA43R150-R075 | GBA43L150-R075 1.50 [ 3.50 | 0.75 ® [ ] ® ®
GBA43R200-R100 | GBA43L200-R100 2.00 1. 00 [ ] [ ] [ ] [ ]
GBA43R250-R125 | GBA43L250-R125 2.50 1.25 ® [ ] ® ®
GBA43R300-R150 | GBA43L300-R150 3.00 1. 50 ® ® ® ®
5.00
GBA43R350-R175 | GBA43L350-R175 3.50 1.75 ® ® ® ®
GBA43R400-R200 | GBA43L400-R200 4.00 2.00 ® [ ] ® ®
KGBA V118 J] T
KGBA External Grooving Toolholders
5 T
1 !
. e : e s
L]
— Tmax t
w (]
2° ‘ B
24 EEFRTE SR
L1 Right-hand Shown
L
B=s R=F T
Designation Dimension Spare Parts
. EWR | Wkig B24T e
4 F Right A F Left H|{B| h | Hi1| L |[L1| F |[Tmax Clamp | Clamp Sorew | serew | Tore wronch
KGBAR2020K22 | KGBAL2020K22 | 20 | 20 20 125 25
KGBAR2525M22 | KGBAL2525M22 | 25 | 25 25| 4 [150| 25 | 32 5 HI1814 M10625 M4*8 T15
KGBAR3232P22 | KGBAL3232P22 32 | 32 32 170 40
¥ {z:mm

Unit:mm



T11/16%#E T B

T11/16 shallow Grooving Inserts

®eRIT TS

O

HeRHEFH

# 43 :mm
Unit:mm
BE R MR
Designation Dimensions Grades
4ME Extenal | (5 Intenal | A T |®d| W | L | R | ororze5|otor225c| oTO7226|  H10
T11E050 T11N050 0.50 ® ® ® ®
T11E060 T11N060 n || L M) M) M) M)
T11E070 T11N070 0.70 s ® ® [ ] ®
T11E080 T11N080 0.80 | 1.20 ® ® ® ®
T11E090 T11N090 0.90 ® ® ® ®
T11E100 T11N100 1.00 [ ] ® ® [ ]
T11E110 T11N110 1.10 ® ® ® ®
T11E120 T11N120 6.35 |3.18| 2.9 | 1:20 1 50 ® ® ® ®
T11E130 T11N130 1.30 ® ® ® [ ]
T11E140 T11N140 1.45 ® ® ® ®
T11E150 T11N150 1.50 0.10 ® ® ® ®
T11E160 T11N160 1.60 1 40 [ ] [ ] [ ] [ ]
T11E170 T11N170 1.70 | ® ® ® ®
T11E180 T11N180 1.80 | 1.30 ® [ ] ® ®
T11E200 T11N200 2.00 | 1.20 ® ® [ ] ®
T16E050 T16N050 0.50 [ ] [ ] [ ] [ ]
T16E060 T16N060 0.60 | 1.60 | 0.05 [ [ ® ®
T16E070 T16N070 0.70 ® ® ® ®
T16E080 T16N080 0.80 [ ] [ ] [ ] [ ]
T16E090 T16N090 0.90 ® ® [ ] ®
T16E100 T16N100 1.00 ® ® ® ®
T16E110 T16N110 1.10 ® ® ® ®
T16E120 T16N120 1.20 ® ® ® [ ]
T16E130 T16N130 1.30 ® ® ® ®
T16E140 T16N140 1.40 ® ® [ ] ®
T16E150 T16N150 1.50 | 2.10 | 0.10 ® ® [ ] ®
T16E160 T16N160 1.60 ® (] ® ®
T16E170 T16N170 1.70 ® ® ® ®
T16E180 T16N180 9.525 |3.65| 4.0 | 1:80 ® ® ® ®
T16E200 T16N200 2.00 ® ® [ ] ®
T16E215 T16N215 2.15 ® ® ® ®
T16E230 T16N230 2.30 | 2.00 ® [ ] [ ] [ ]
T16E250 T16N250 2.50 ® ® [ ] [ ]
T16E265 T16N265 2.65 | 2.20 ® (] ® ®
T16E300 T16N300 3.00 | 2.00 ® ® ® ®
T16E100-R050 | T16N100-R050 1.00 0.50 ® ® ® [ ]
T16E120-R060 | T16N120-R060 1.20 210 0.60 ® ® ® ®
T16E150-R075 | T16N150-R075 1.50 | ° 0.75 ® ® ® ®
T16E200-R100 | T16N200-R100 2.00 1.00 ® ® ® ®
T16E250-R125 | T16N250-R125 2.50 . 1.25 ® ® ® ®
T16E300-R150  T16N300-R150 3.00 1.50 ® ® [ ] ®




T11/16N HNE ]+

T11/16 shallow Grooving Inserts

ey ] -z
Dmin
_h_
|
BE=0=
L1 Righ]?;]-:;fdtTjOT]iown
L # f:mm
Unit:mm
Rt T
il = Dimension BETHK Spare Parts
SNROO10H11 10 9 7.4 12 100 12
SNR0012K11 12 11 8.4 15 125 15 T11N**% M2.5%8 T8
SNR0013M11 13 12 8.9 25 150 15
SNR0013M16 13 12 10.2 25 150 16
SNR0016M16 16 15 11.7 30 150 19
SNR0020Q16 20 18 13.7 32 180 24
SNRO0025R16 25 23 16.2 35 200 29 T16N**% M3.5%12 T15
SNR0032S516 32 30 19.7 36 250 36
SNR0040T16 40 37 23.7 45 300 44
SNRO0050U16 50 46 28.7 9 350 54
T16E /MNE TI4T
T16 shallow Grooving Inserts
£ 2 b =
w (1]
J BFrhEFNL
Right-hand Tool shown
- % 45:mm
Unit:mm
Rt T
it Dimension BRENE Spare Parts
Designation H h B E L Inserts 25T | BIEIRF
Screw Torx Wrench
SER1212F16 12 12 12 16 80
SER1616H16 16 16 16 20 100
SER2020K16 20 20 20 25 125 T16E*** M3.5%12 T15
SER2525M16 25 25 25 32 150
SER3232P16 32 32 32 40 170




GRXETI R

GR shallow Grooving Inserts

6GR/L
7GR/L

8GR/L
9GR/L

=S CBEALFAR % fo:mm
Right-hand Tool shown Right-hand Tool shown o
i = R~ MR
Designation Dimensions Grades
HERight | L F Left L A S |od | W T R | o107225 | 0TO7225C| OTO7226 H10
6GR100 6GL100 1.00 ® ® ® ®
6GR150 6GL150 6.44 2.34 | 2.30 | 1.50 ® ® ® ®
6GR200 6GL200 =l 2.00 e ® ® ® ®
7GR100 7GL100 ' 1.00 ® [ ® ®
7GR150 7GL150 7.36 3.08 1.50 ® ® ® ®
7GR200 7GL200 2.00 [ [ ® ®
7GR100-R050 | 7GL100-R050 1.00 [ ] ® ® ®
7GR150-R075 | 7GL150-R075 1.50 ® ® ® ®
7GR200-R100 | 7GL200-R100 2.00 0.20 ® [ [ [
8GR100 8GL100 1.00 ® [ ] ® ®
8GR150 8GL150 1.50 ® @ ® ®
8GR200 8GL200 ) 58 2.00 ® [ ] ® ®
8GR250 8GL250 ; 2.50 ® ® ® ®
8GR300 8GL300 3.00 [ ] [ ] @ ®
8GR350 8GL350 1016 | 6.20 | 387 3.50 200 ® ® ® [
8GR100-R050 | 8GL100-R050 1.00 0.50 ® ® [ ] [ ]
8GR150-R075 | 8GL150-R075 1.50 0.75 [ ] [ ] [ ] ®
8GR200-R100 | 8GL200-R100 2.00 1.00 ® ® ® [ ]
8GR250-R125 | 8GL250-R125 2.50 1.25 ® ® [ ] ®
8GR300-R150 | 8GL300-R150 3.00 1.50 [ ] [ ] ® ®
8GR350-R175 | 8GL350-R175 3.50 1.75 ® [ ] ® [ ]
9GR100 9GL100 1.00 [ ] ® ® [
9GR150 9GL150 1.50 ® ® @ ®
9GR200 9GL200 2.00 [ ] ® ® [
9GR250 9GL250 2.50 0.20 [ ] [ ] [ ] ®
9GR300 96L300 3.00 ® ® ® ®
9GR350 9GL350 3.50 [ ] [ ] ® ®
9GR100-R050 | 9GL100-R050 12.95 | 7.70 | 4.66 | 2.86 1.00 | 399 | 0.50 [ ® ® ®
9GR150-R075 | 9GL150-R075 1.50 0.75 [ ] [ ] ® ®
9GR200-R100 | 9GL200-R100 2.00 1.00 [ ® ® ®
9GR250-R125 | 9GL250-R125 2.50 1.25 [ ] [ ] [ ®
9GR300-R150 | 9GL300-R150 3.00 1.50 [ ® ® ®
9GR350-R175 | 9GL350-R175 3.50 1.75 [ ® ® ®

10



GREJI#

GR shallow Grooving Inserts

%‘ B —— )T

L1 L
15°
Dmin ~
e
BrAhEFIR L1
Right-hand Tool shown L
¥ 4z:mm
Unit:mm
=
5 R~ T4
Designation Dimension BEEJTR Spare Parts
Right Left Dmi Inserts B2 5T IR F

EEF = ZEEF € H L1 L min Screw Torx Wrench
SNGRO8H06 SNGLO8HO06 08 18 100 8 6GR/L*** M2.0*6
SNGRO8HO07 SNGLO8HO7 08 23 100 10

7TGR/L***
SNGR10K07 SNGL10K07 10 29 125 12 T6

M2.2*6

SNGR10K08 SNGL10K08 10 15 125 14

8GR/L***
SNGR12M08 SNGL12M08 12 18 125 16
SNGR16Q09 SNGL16Q09 16 20 180 20

9GR/L*** M2.5*8 T7
SNGR20R09 SNGL20R09 20 25 200 24

11




GER/L-A/BRETI R

GER-A/B shallow Grooving Inserts

o~

X

Nl
Vo -
St "9[
f’ﬁ

R H
RSy L
Right-hand Inserts shown ﬁrﬁtmm
Ci=] R~ MR
Designation Dimensions Grades
AF Right EF Left L H|®ed| W B R | oT07225 |oTO7225¢C | OTO7226 H10
GER100-A GEL100-A 1.00 ® @ [ [
GER120-A GEL120-A 1.20 ® ® [ ] [
0.10
GER150-A GEL150-A 1.50 ‘ ‘ ‘ ‘
GER200-A GEL200-A 6.69 | 2.58 | 2.50 | 2.00 | 1.50 [ ] @ [ ] [ ]
GER100-050AR GEL100-050AR 1.00 0.50 ® ® ® ®
GER150-075AR GEL150-075AR 1.50 0.75 ® [ ] ® ®
GER200-100AR GEL200-100AR 2.00 1.00 ® ® ® ®
GER100-B GEL100-B 1.00 [ ® [ [
GER120-B GEL120-B 1.20 ® ® @ [
0.10
GER150-B GEL150-B 1.50 ‘ ‘ ‘ ‘
GER200-B GEL200-B 2.00 ‘ ‘ ‘ ‘
GER250-B GEL250-B 2.50 ‘ ‘ ‘ ‘
0.20
GER300-B GEL300-B 3.00 ‘ ‘ ‘ ‘
8.46 | 3.18 2.8 2.20
GER100-050BR GEL100-050BR 1.00 0.50 ® ® [ ] ®
GER120-060BR GEL120-060BR 1.20 0.60 [ ] ® [ ] ®
GER150-075BR GEL150-075BR 1.50 0.75 ‘ ‘ ‘ ‘
GER200-100BR GEL200-100BR 2.00 1.00 ® [ ] ® ®
GER250-125BR GEL250-125BR 2.50 1.25 ® [ ] ® ®
GER300-150BR GEL300-150BR 3.00 1.50 ® ® [ ] [ ]

12



GER/L-C/D/IERET] A

GER-C/D/E Grooving Inserts

13

BTAhEFAA
Right-hand Inserts shown

Y

__

@

a

¥ fz:mm
Unit:mm

8BS RY M3
Designation Dimensions Grades
AT Right EF Left L|A|H(fedl W) B | R |or07225 |O0TO7225C| OTO7226|  H10
GER100-C GEL100-C 1.00 [ [] [ [
GER120-C GEL120-C 1.20 [ ] [ [ ] [ ]
GER150-C GEL150-C 1.50 0.10 [ ] ® [ ] [ ]
GER200-C GEL200-C 2.00 [ ] ® [ ] [ ]
GER250-C GEL250-C 2.50 020 ® ® ® ®
GER300-C GEL300-C 3.00 ' [ ] [] [ ] ®
GER350-C GEL350-C 11.48| 5.8 | 4.05]|2.80 | 3.50 | 2.50 [ ] [] [ ] @
GER100-050CR GEL100-050CR 1.00 0.50 [ ] [] [ ] @
GER120-060CR GEL120-060CR 1.20 0.60 [ ] [] [ @
GER150-075CR GEL150-075CR 1.50 0.75 [ ] [ ] [ ] [ ]
GER200-100CR GEL200-100CR 2.00 1.00 [ ] [ ] [ ] [ ]
GER250-125CR GEL250-125CR 2.50 1.25 [ ] [ ] [ ] [ ]
GER300-150CR GEL300-150CR 3.00 1.50 e [ ] e e
GER100-D GEL100-D 1.00 [ [ [ ®
GER120-D GEL120-D 1.20 010 ® [ ® ®
GER150-D GEL150-D 1.50 ® [ ® ®
GER200-D GEL200-D 2.00 [] ® [] ®
GER250-D GEL250-D 2.50 [] @ [] ®
GER300-D GEL300-D 3.00 0.20 [] @ [] []
GER350-D GEL350-D 3.50 ; [] = = =
GER400-D GEL400-D 4.00 [
GER100-050DR GELto0-0s00r | 10-44| 68 | 5:05 | 3.40 1= 4.50 17 [] ® [ ] @
GER120-060DR GEL120-060DR 1.20 0.60 ® [ [] []
GER150-075DR GEL150-075DR 1.50 0.75 ® [ ® []
GER200-100DR GEL200-100DR 2.00 1.00 ® [ ® ®
GER250-125DR GEL250-125DR 2.50 1.25 ® [ ® ®
GER300-150DR GEL300-150DR 3.00 1.50 [ [] [ @
GER350-175DR GEL350-175DR 3.50 1.75 ® ® ® ®
GER400-200DR GEL400-200DR 4.00 2.00 ® [] ® [
GER100-E GEL100-E 1.00 ® ® ® ®
GER120-E GEL120-E 1.20 010 ® [ ® [
GER150-E GEL150-E 1.50 i ® [ [ [
GER200-E GEL200-E 2.00 ® [ ® [
GER250-E GEL250-E 2.50 [ [ [ [
GER300-E GEL300-E 3.00 [ [] ® [
GER350-E GEL350-E 3.50 0.20 [ [] ® [
GER400-E GEL400-E 4.00 [ [] ® [
GER450-E GEL450-E 4.50 [ : : :
GER500-E GEL500-E 5.00 [
GER100-050ER GeLtoo0s0er | 2166 9-54] 5:55 1 4.40 =71 6.50 =5 ® [ [ [
GER120-060ER GEL120-060ER 1.20 0.60 ® [ [ [
GER150-075ER GEL150-075ER 1.50 0.75 ® [ [ [
GER200-100ER GEL200-100ER 2.00 1.00 [ [ [ ®
GER250-125ER GEL250-125ER 2.50 1.25 [ [ [ ®
GER300-150ER GEL300-150ER 3.00 1.50 [ [ ® [
GER350-175ER GEL350-175ER 3.50 1.75 [ [ [ [
GER400-200ER GEL400-200ER 4.00 2.00 ® [ [ [
GER450-225ER GEL450-225ER 4.50 2.25 [ [ ® [
GER500-250ER GEL500-250ER 5.00 250 [ ] [ ] [ ] [ ]




GER/L-A/B/C/D/E A& J]#F

GER/L-A/B/C/D/E Toolholder

.
= — il
. e N | J I N
t& i i Il D/EZY
Li L BFHEFNRE
- Right-hand Tool shown ¥ f5:mm
Unit;mm
=
£5 Rt T4
Designation CFrrErefie BEETR Spare Parts
Right Dmi Inserts 25T | BIERF
E EJE S EE‘F t H L1 L min Screw Torx Wrench
SIGERO0808A-EH SIGEL0808A-EH 08 20 100 8 GER/L***-A M2.2*6 T6
SIGER1010B-EH SIGEL1010B-EH 10 25 10
125 GER/L***-B
SIGER1210B-EH SIGEL1210B-EH 10 30 12
SIGER1412C-EH SIGEL1412C-EH 12 33 14 M2.5*8 T7
150
SIGER1612C-EH SIGEL1612C-EH 12 20 16 GER/L***-C
SIGER1616C-EH SIGEL1616C-EH 16 36 160 16
SIGER2020D-EH SIGEL2020D-EH 20 40 180 20
GER/L***-D M3*10 T8
SIGER2525D-EH SIGEL2525D-EH 25 45 25
200
SIGER2525E-EH SIGEL2525E-EH 25 45 25
GER/L***-E M4*12 T15
SIGER3232E-EH SIGEL3232E-EH 32 55 220 32

14



GER/L-DD/EE /MNMRirnE1E ]

GER/L-DD/EE Facegrooving Inserts

A A A
R RV R W R
@ @ @

N _ 1

| £

-1O] «|O] O] | 1

L f )
BrAEFNHA H
Right-hand Inserts shown ¥ 45:mm
Unit:mm
=
£ R EEETIF "R
Designation Dimensions Grades
Toolholder
4 F Right ZF Left A | L |(ed| H| W | B | R |Dmin|Dmax 0TO7225 | OTO7225C| OTO7226|  H10
GER100-DD GEL100-DD 1.00 [ ® ® [ ]
2.50 | 0.10 15
GER120-DD GEL120-DD 1.20 [ ® ® ®
GER150-DD GEL150-DD 1.50 | 3.20 [ ® @ [ ]
GER200-DD GEL200-DD 2.00 [ [ [ ®
GER250-DD GEL250-DD 2.50 SGEL** @ [ [ ®
450 | 015 | 10 SGEL**
GER300-DD GEL300-DD 3.00 SGEL* ® ® [ [
GER350-DD GEL350-DD 3.50 SGEL** ® ® [ ] [ ]
GER400-DD GEL400-0D | ¢ 2o l16.4a| 3.4 | 5.05 | 420 ?Eiii’gjh’j_) ® ® ¢ °®
GER100-R050DD | GEL100-R050DD 1.00 0.50 hand inserts) ® [ [ [
GER120-R060DD | GEL120-R060DD 720 | 2°° 0.60 15 ® [ [ @
GER150-R075DD | GEL150-R075DD 150 | 3.20 [ 0.75 SGER™ ® ® ® ®
GER200-R100DD | GEL200-R100DD 2.00 1.00 gggg ® ® [ ®
GER250-R125DD | GEL250-R125DD 2.50 1.25 SGER** ® ® [ ®
GER300-R150DD | GEL300-R150DD 3.00 | 450 [ 150 | 10 <f§§‘fe7f7tf ) °® 0 ® ®
GER350-R175DD | GEL350-R175DD 3.50 1.75 hand inserts) ® ® [ [
GER400-R200DD | GEL400-R200DD 4.00 2.00 ® ® ® ®
+00

GER150-EE GEL150-EE 1.50 | 3.20 15 B-SGEL** ® ® [ ] [ ]
GER200-EE GEL200-EE 2.00 | 4.50 B-SGEL** ® ® [ [ ]
GER250-EE GEL250-EE 2.50 B-SGEL™ ® ® [ [ ]
GERB300-EE GEL300-EE 3.00 o f;j’igf 2 ® ® ® ®
GER350-EE GEL350-EE 350 | 650 | 1o hand inserts) [ ® ® ®
GER400-EE GEL400-EE 4.00 ” ® ® [ [
GER450-EE GEL450-EE 4.50 S:EEEE“ ® ® [ [
GER500-EE GEL500-EE 5.00 B-SGER* ® ® [ [
GER150-R075EE | GEL150-R075EE | 9-54 |21-66| 4.4 | 5.55 55717550 [ 0.75 | 15 (Bt 57 K) ® ® ® ®
GER200-R100EE | GEL200-R100EE 2.00 | 4.50 | 1.00 h;Fn‘(’jr iﬁgﬁ}; ® ® ® ®
GER250-R125EE | GEL250-R125EE 2.50 1.25 ® ® [ [
GER300-R150EE | GEL300-R150EE 3.00 1.50 ® ® [ [
GER350-R175EE | GEL350-R175EE 3.50 6.50 1.75 10 ® ® [] []
GER400-R200EE | GEL400-R200EE 4.00 2.00 ® ® [] []
GER450-R225EE | GEL450-R225EE 450 225 ® ® ® ®
GER500-R250EE | GEL500-R250EE 5.00 2.50 ® ® [] []

15



GER/L-DD/EE /)2 i [ & 7] #F

GER/L-DD/EE Facegrooving Toolholder

9e
=£
T8 1] £ ‘
: I
R —
----------- I
< k- - Z
I BrALEFNE
L Left-hand Tool shown
#4z:mm
Unit:mm
B= R~t B 7] =
Designation Dimension Spare Parts
Inserts B2ET IR F
£ F Right £ F Left H B h F L |Dmin Serew | Torx Wrench
SGER1212H-D | SGEL1212H-D 12 12 12 16 100
GER**DD/EE
SGER1616H-D | SGEL1616H-D 16 16 16 20 100 (B & 5 7147)
(For Left-hand M3*8 T10
SGER2020K-D | SGEL2020K-D 20 20 20 25 125 Toolholder)
SGER2525M-D | SGEL2525M-D 25 25 25 32 150 | 10
GEL**DD/EE
SGER1212H-E | SGEL1212H-E 12 12 12 16 100 (% + 7 4F)
SGER1616H-E | SGEL1616H-E | 16 16 16 20 | 100 For Right-hand
M4*12 T15
SGER2020K-E | SGEL2020K-E 20 20 20 25 125
SGER2525M-E | SGEL2525M-E 25 25 25 32 150
10°
1T - c
= E ML LA
T a /% -
H
w (1]
L CET PR R
Right-hand Tool shown
#4z:mm
Unit:mm
= 55
B3 R~f B 7] =
Designation Dimension Spare Parts
Inserts B2ET IR F
4 F Right £ F Left H B h F L |Dmin Serew | Torx Wrench
B-SGER1212H-D [B-SGEL1212H-D | 12 12 12 18 100
GEL**DD/EE
B-SGER1616H-D [B-SGEL1616H-D | 16 16 16 22 100 (B & 5 7147)
(For Left-hand M3*8 T10
B-SGER2020K-D |[B-SGEL2020K-D | 20 20 20 26 125 Toolholder)
B-SGER2525M-D |B-SGEL2525M-D | 25 25 25 31 150 | 10
GER**DD/EE
B-SGER1212H-E |B-SGEL1212H-E | 12 12 12 19 100 (8% 5 714)
B-SGER1616H-E |B-SGEL1616H-E | 16 16 | 16 23 | 100 o g
M4*12 T15
B-SGER2020K-E |B-SGEL2020K-E | 20 20 20 27 125
B-SGER2525M-E |B-SGEL2525M-E | 25 25 25 32 150

16



VNF,VC11/16 M7LHEE ]

VNF,VC11/16 Intenal Facegrooving Inserts

7 4 4

( (’ [/ - 1Tl =
1.1 ¢
SRS \ N g
VNF A & g 52 VC11/1640 @ i = B A% F 74
Right-hand Inserts shown
¥ fz:mm
Unit:mm
] =2
s R~t R MR
Designation Dimensions Grades
Toolholder
A F Right L F Left A L| | ed H(W|B R | Dmin 0TO7225 [0TO7225C | OTO7226 | H10
VNF100RD6 VNF100LD6 1.00 | 1.50 [ [ ® [ ]
VNF150RD6 VNF150LD6 1.50 | 2.50 | 0.05 SVNFR** °® ® ® ®
(8% F7H4)
VNF200RD6 VNF200LD6 238 | 2:00 | 3.00 06 [ [ @ ®
VNF100RD6-R050DMC| VNF100LD6-R050DMC 1.00 | 1.50 | 0.50 SVNFL** [ ] [ ] [ ] ®
(Be&£F7K)
VNF150RD6-R075DMC| VNF150LD6-R075DMC 1.50 | 2.50 | 0.75 ® [ [ J [ J
VNF200RD6-R100DMC| VNF200LD6-R100DMC 2.00 | 3.00 | 1.00 ® [ [ J @
VC1103R100 VC1103L100 1.00 | 2.30 ® [ ® ®
6.35 [ 14.0 | 2.8
VC1103R150 VC1103L150 1.50 @ [ [ [
VC1103R200 VC1103L200 2.00 | 2.80 ® ® ® ®
VC1103R250 VC1103L250 2.50 ® [ [ @
318 14
VC1103R100-R050 [ VC1103L100-R050 1.00 | 2.30 | 0.50 ¢ ¢ ® ®
VC1103R150-R075 [ VC1103L150-R075 1.50 0.75 ¢ ¢ ® ®
VC1103R200-R100 [ VC1103L200-R100 2.00 | 2.80 [ 1.00 ® ® ® ®
VC1103R250-R100 | VC1103L250-R100 2.50 1.25 ] [ [ [ ]
VC1604R100 VC1604L100 1.00 | 2.60 | 0.15 SEERS ¢ ® ® ®
VC1604R150 VC1604L150 150 [ 360 [ o (Bt F71) ® ® ® ®
VC1604R200 VC1604L200 2.00 | 410 | SENVEL™ ¢ ® ® ®
VC1604R250 VC1604L250 250 [ (R£F7A) ® ® ® ®
VC1604R300 VC1604L300 3.00 | ® ® [ [ ]
0.30
VC1604R350 VC1604L350 3.50 460 ® ® [ @
VC1604R400 VC1604L400 4.00 | ® ® ® [ ]
9.525(19.0 | 4.4 | 476 20
VC1604R100-R050 [ VC1604L100-R050 1.00 | 2.60 | 0.50 ® ® [ [
VC1604R150-R075 | VC1604L150-R075 1.50 | 3.60 | 0.75 ® ® [ [
VC1604R200-R100 | VC1604L200-R100 2.00 | 4.10 | 1.00 ® ® [ [
VC1604R250-R125 [ VC1604L250-R125 2.50 510 1.25 ® ® [ [
VC1604R300-R150 | VC1604L300-R150 3.00 | 1.50 ® ® [ [
VC1604R350-R175 [ VC1604L350-R175 3.50 460 1.75 ® ® [ [
VC1604R400-R200 [ VC1604L400-R200 4.00 | 2.00 [ [] [] []

17




VNF A fL i H 12 J]

VNF Intenal Facegrooving Toolholder

~__1
ﬁ.i._.)_ ....................................... p :
Z 1
A5 A% 50 R
Right-hand Tool shown
¥ 43:mm
Unit:mm
=
5 R~ T4
Designation Dimension BEEJR Spare Parts
Right Left Dmi Inserts B2 5T IR F
EEF = ZEEF € H L Tmax |Dmin Screw Torx Wrench
S10K-SVNFR11 S10K-SVNFR11 10 125
S12M-SVNFR11 S12M-SVNFR11 12 150
S16Q-SVNFR11 S16Q-SVNFR11 16 3.0 6 VNF*** M2.5*8 T8
S20Q-SVNFR11 S20Q-SVNFR11 20 180
S25Q-SVNFR11 S25Q-SVNFR11 25
RYIT]
VC11/16 AflinH & J]
VC11/16 Intenal Facegrooving Toolholder
Tmax
T _.i})_._l ..................................... p :
GB/E <1
B &5 R
Right-hand Tool shown # fz:mm
Unit:mm
) = =
ke Rt T4
Designation Phnension BEEJR Spare Parts
4 FE Right 7 F Left H L |Tmax [Dmin Inserts B2ET IR F
Screw Torx Wrench
SGIVFR10K11 SGIVFL10K11 10 125
SGIVFR12M11 SGIVFL12M11 12 150 2.8 14 VC1103R*** M2.5*8 T8
SGIVFR16Q11 SGIVFL16Q11 16
180
SGIVFR16Q16 SGIVFL16Q16 16
SGIVFR20R16 SGIVFL20R16 20 5.1 20 VC1604R*** M4.0*12 T15
200
SGIVFR25R16 SGIVFL25R16 25

18



M10 A 7L im & 7]

M10 Intenal Facegrooving Inserts

R
S
|
L;,
e R> MR
=7 Dimensions Grades
Designation
w L Dmin R 0TO7225 |0TO7225C | OTO7226 H10
DPCR150M10 1.50 8.0 0.20 ® ® ® ®
DPCR200M10 2.00 10.0 100 0.40 ® ® ® ®
DPCR250M10 2.50 ' 0.20 ® ® ® ®
11.20
DPCR300M10 3.00 0.40 ® ® ® ®

19



FVC1604:xHiEJ]

. T
FVC1604 Facegrooving Inserts
A
w—
. _ Z
fA‘ ) T o
N &
BTAEFAA
Right-hand Inserts shown
] =2
s R~t R MR
Designation Dimensions Grades
Toolholder

& F Right L F Left A L(ed| T | W| B | R |Dmin OTO7225 |0TO7225G | OTO7226|  H10

FVC1604R100 FVC1604L100 1.00 | 1.50 010 [ ® ® ®

FVC1604R150 FVC1604L150 1.50 | 1.60 ’ (Eﬂsz\rl—';';JR}:) ® [ ] @ o

FVC1604R200 FVC1604L200 2.00 | 1.80 [ ® @ [ ]

FVC1604R250 FVC1604L250 2.50 | 2.30 | 0.20 SVNFL** ® ® [ ] [

(B 571 K)

FVC1604R300 FVC1604L300 aa | 476 3.00 | 3.00 @ @ [ [ [
FVC1604R100-R050 | FVC1604L100-R050 |2-323| 18-5| 4- 76 ™00 | 1.50 | 0.50 O QO Q Q
FVC1604R150-R075 | FVC1604L150-R075 150 | 1.60 | 0.75 O O O O
FVC1604R200-R100 | FVC1604L200-R100 2.00 | 1.80 | 1.00 O O O O
FVC1604R250-R125 | FVC1604L250-R125 2.50 | 2.30 | 1.25 O O O O
FVC1604R300-R150 | FVC1604L300-R150 3.00 | 3.00 | 1.50 O Q @) @)




MB A 1E ]

MB Intenal Grooving Inserts

21

= -l ;
[} [}
W \R R
BT HhEF AR
Right-hand Inserts shown # f:mm
Unit:mm
U5 (5
S RJ 54
Designation Dimensions Grades
AF Right % F Left L A Dminj®d | W | B R OTO7225| OTO7225C | OTO7226 H10
MB05GR100D09 MB05GL100D09 1.00 [ [] [ [
MB05GR150D09 MB05GL150D09 1.50 0.10 [ ] [ ] [ ] [ ]
MB05GR200D09 MB05GL200D09 2.00 [ ] [ ] [ ] [ ]
MB05GR250D09 MB05GL250D09 2.50 [ ] [ ] [ ] [ ]
0.20
MB05GR300D09 MB05GL300D09 3.00 [ ] @ [ ] [ ]
83| 5.0 |9.0 |250 2.80
MB05GR100-R050D09 | MBO5GL100-R050D09 1.00 0.50 [ ] [ ] [ ] [ ]
MBO5GR150-R075D09 | MBO05GL150-R075D09 1.50 0.75 [ ] [ ] [ ] [ ]
MB05GR200-R100D09 | MBO5GL200-R100D09 2.00 1.00 [ ] @ [ ] [ ]
MBO5GR250-R125D09 | MBO5GL250-R125D09 2.50 1.25 ® ® ® [ ]
MBO5GR300-R150D09 | MBO5GL300-R150D09 3.00 1.50 , , , ,
MBO07GR100D12 MB07GL100D12 1.00 [ [ [] []
MBO07GR150D12 MBO07GL150D12 1.50 0.10 [] [] [] []
MB07GR200D12 MBO7GL200D12 2.00 [] @ ® []
MB07GR250D12 MB07GL250D12 2.50 [] @ [] []
0.20
MB07GR300D12 MB07GL300D12 3.00 [] ® [] []
11.0| 7.0 | 12.0 | 3.40 3.50
MB07GR100-R050D12 | MB07GL100-R050D12 1.00 0.50 [ ] [] [] []
MB07GR150-R075D12 | MB07GL150-R075D12 1.50 0.75 [] [] (] []
MB07GR200-R100D12 | MB07GL200-R100D12 2.00 1.00 [] [] (] []
MB07GR250-R125D12 | MB07GL250-R125D12 2.50 1.25 [] [] (] []
MB07GR300-R150D12 | MB07GL300-R150D12 3.00 1.50 ! , ! !
MBO9GR100D17 MB09GL100D17 1.00 ® [ ® ®
MB09GR150D17 MB09GL150D17 1.50 0.10 ‘ ‘ ‘ ‘
MB09GR200D17 MB09GL200D17 2.00 ® ® ® ®
MBO9GR250D17 MB09GL250D17 2.50 ® ® ® [
0.20
MB09GR300D17 MB09GL300D17 3.00 ® ® ® ®
16.0| 9.0 | 17.0 | 4.40 6.50
MB09GR100-R050D17 | MBO9GL100-R050D17 1.00 0.50 [ ] [] [ ] [ ]
MBO9GR150-R075D17 | MBO9GL150-R075D17 1.50 0.75 ® [] [ ] @
MB09GR200-R100D17 | MBO9GL200-R100D17 2.00 1.00 [ ] [] [ ] [ ]
MB09GR250-R125D17 | MBO09GL250-R125D17 2.50 1.25 ® [] [ ] [ ]
MBO9GR300-R150D17 | MBO9GL300-R150D17 3.00 1.50 ‘ ‘ ‘ ‘
MB11GR100D20 MB11GL100D20 1.00 [ [ [ [
MB11GR150D20 MB11GL150D20 1.50 0.10 [ [] [] []
MB11GR200D20 MB11GL200D20 2.00 [ [] [ [
MB11GR250D20 MB11GL250D20 2.50 [ [ [ [
MB11GR300D20 MB11GL300D20 3.00 0.20 ® [ [ [
MB11GR350D20 MB11GL350D20 3.50 ; ® [ [ [
MB11GR400D20 MB11GL400D20 4.00 [ [ [ [
19.5] 11.0 | 20.0 | 5.40 8.00
MB11GR100-R050D20 | MB11GL100-R050D20 1.00 0.50 [ [] [ [
MB11GR150-R075D20 | MB11GL150-R075D20 1.50 0.75 [ [] [ [
MB11GR200-R100D20 | MB11GL200-R100D20 2.00 1.00 [ [] [ []
MB11GR250-R125D20 | MB11GL250-R125D20 2.50 1.25 [ [] [ []
MB11GR300-R150D20 | MB11GL300-R150D20 3.00 1.50 [ [] [ []
MB11GR350-R175D20 | MB11GL350-R175D20 3.50 1.75 [ [] [] []
MB11GR400-R200D20 | MB11GL400-R200D20 4.00 2.00 [ [] [ [




MB A& J] 4

MB Intenal Grooving Toolholder

Dmin L1
® B I = z
¥ 4z:mm
Unit:mm
Al 2 Rt F
= Dimension BEER Spare Parts
Designation
J H L1 L |(Dmin Inserts B2 4T WILIRF
Screw Torx Wrench
MG-H12-28-05 12 28 100 9 MBO5GR/L** M2.2*6 T6
MG-H16-20-07 16 20 12 MBO7GR/L** M3*10 T8
MG-H16-30-09 16 30 125 17 MBO9GR/L** M4*12 T15
MG-H20-40-11 20 40 20 MB11GR/L** M5*16 T20

22



TKF12/16 VITEVIET T A
TKF12/16 Grooving&Cut-off Inserts

T
w R
10
| = 3l
[ L
B& A% 57K
-S Right-hand Inserts shown ¥ fzmm
Unit:mm
= R~ MR
Designation Dimensions Grades

AF Right % F Left W (pbmax| T H ed R QT07225 | OTO7225C | OTOT7226 H10
TKF12R050-S TKF12L050-S 0.50| 5.0 [ ] ® [ ] [ ]
TKF12R070-S TKF12L070-S 0.70| 8.0 ® ® ® ®
TKF12R100-S TKF12L100-S 1.00 ® ® ® ®
TKF12R150-S TKF12L150-S 1.50 | 12.0 ® ® [ ] ®
TKF12R200-S TKF12L200-S 2.00 3.0 8.7 ® [ ] [ ] ®
TKF12R050-S16R | TKF12L050-S16R 0.50| 5.0 ’ ® [ ] [ ] ®
TKF12R070-S16R | TKF12L070-S16R 0.70 | 8.0 ® [ ] [ ] ®
TKF12R100-S16R | TKF12L100-S16R 1.00 ® [ ] [ ] ®
TKF12R150-S16R | TKF12L150-S16R 1.50| 12.0 [ ] [ ] [ ] [ ]
TKF12R200-S16R | TKF12L200-S16R | 2.00 50 | 005 [ ] [ ] [ ] [ ]
TKF16R100-S TKF16L100-S 1.00 ’ ® ® ® ®
TKF16R150-S TKF16L150-S 1.50 ® [ ] [ ] ®
TKF16R200-S TKF16L200-S 2.00 [ ] [ ] [ ] [ ]
TKF16R250-S TKF16L250-S 250 ool 40| o5 [ ] [ ] [ ] [ ]
TKF16R300-S TKF16L300-S 3.00 [ ] [ ] [ ] [ ]
TKF16R100-S16R | TKF16L100-S16R | 1.00 [ ] [ ] [ ] [ ]
TKF16R150-S16R | TKF16L150-S16R | 1.50 [ [ ® [
TKF16R200-S16R | TKF16L200-S16R | 2.00 [ [ ® [

23




KTKF tJ]1& 1] & 7] #F

KTKF Grooving&Cut-off Toolholder

*—X T $i % Back Operated

o B
s
11
L I
CEFALFAR -
Right-hand Tool shown L1 ~
{XKTKFR/L1010...0nly KTKFR/L1010. ..
JL ERAR shape for above
= 55
Designation Dimension Spare Parts
Inserts 24T %77
- 2 LiRF
A F Right EF Left Hi B|h | F:| L|L: Dmax Screw | Torx Wrench
KTKFR1010K-12 | KTKFL1010K-12 | 10 | 10 | 10 | 10 15 TKF12R***
(&ﬁatfﬂﬁ)
KTKFR1212K-12 | KTKFL1212K-12 | 12 | 12 | 12 | 12 < For Right-hand
12
TKF12L***
KTKFR1616K-12 | KTKFL1616K-12| 16 | 16 | 16 | 16 (ki
(For Left-hand
KTKFR2020K-12 | KTKFL2020K-12 | 20 | 20 | 20 | 20 Toolholder)
KTKFR1010K-16 | KTKFL1010K-16 | 10 | 10 | 10 | 10 | 125 20 TKE16R*** M4*10 T15
(B & F 71 4F)
KTKFR1212K-16 | KTKFL1212K-16 | 12 | 12 | 12 | 12 (For Right-hand
Toolholder)
KTKFR1616K-16 | KTKFL1616K-16 | 16 | 16 | 16 | 16 16
TKFE16L***
KTKFR2020K-16 | KTKFL2020K-16 | 20 | 20 | 20 | 20 (8o £ 5 71 41)
(For Left-hand
KTKFR2525K-16 | KTKFL2525K-16 | 25 | 25 | 25 | 25 Toolholder)
¥ 4z:mm
Unit:mm

24



CTP/CTPAYIEYIWTIJ] &/
CTP/CTPA Grooving&Cut-off Inserts

- I T —
S

BTALFIA
Right-hand Inserts shown

¥ 4zmm
Unit:mm
= R~ MR
Designation Dimensions Grades
AF Right % F Left W (pbmax| T H ed R OTO7225 | OTO7225C | OTO7226 H10
CTPO5FRN CTPO5FLN 0.50| 5.0 [ ] ® [ ] [ ]
CTPO7FRN CTPO7FLN 0.70| 8.0 ® ® ® ®
CTP10FRN CTP10FLN 1.00 ® ® ® ®
CTP15FRN CTP15FLN 1.50 | 12.0 ® ® [ ] ®
CTP20FRN CTP20FLN 2.00 5z 8.0 ® [ ] [ ] ®
CTPO5FR CTPO5FLK 0.50| 5.0 ® [ ] [ ] ®
CTPO7FR CTPO7FLK 0.70 | 8.0 ® [ ] [ ] ®
CTP10FR CTP10FLK 1.00 ® [ ] [ ] ®
CTP15FR CTP15FLK 1.50| 12.0 [ ] ® [ ] ®
CTP20FR CTP20FLK 2.00 [ ] [ ] [ ] [ ]
5.0 | 0.05
CTPA10FRN CTPA10FLN 1.00 ® ® ® ®
CTPA15FRN CTPA15FLN 1.50 ® [ ] [ ] ®
CTPA20FRN CTPA20FLN 2.00 ® [ ] [ ] ®
CTPA25FRN CTPA25FLN 250 ool 35 | 04 ® [ ] [ ] ®
CTPA30FRN CTPA30FLN 3.00 ® [ ] [ ] ®
CTPA10FR CTPA10FLK 1.00 ® [ ] ® [ ]
CTPA15FR CTPA15FLK 1.50 [ ] ® [ ] [ ]
CTPA20FR CTPA20FLK 2.00 [ ] ® [ ] [ ]

25




CTP/CTPA VI ] JJ#F
CTP/CTPA Grooving&Cut-off Toolholder

L
7.5
B : B
i o
GA—DI }1“
30
Dmax
- —,, A /] . H B
h -+ : 1
EEEETE 1 : Type A hi| A4 : H Type B
Right-hand Tool shown L i
15 h2 f2 CTP Fho FICTPA
For CTP 19.5 For CTPA .
# 4z:mm
Unit:mm
= s =
= R~F X | BENR EH
Designation Dimension Type Matching Spare Parts
. y 1247 WML F
HAF Right | ZF Left |H|{ B | h | hi|h2| L |[Dmax Inserts et || g
CTPRO8 CTPLO8 08| 10| 08 | 08| 4 CTPL***
<ﬁat{»7]ﬂ)
CTPR10 CTPL10 10| 10|10 | 10| 2 e e
12
A CTP***
CTPR12 CTPL12 12 | 12 | 12 | 12 S
(For Left-hand
CTPR16 CTPL16 16 | 16 | 16 | 16 Toolholder)
120
M4*10 T15
CTPAR10 CTPAL10 10 | 10 [ 10 | 10| 2 CTPAL***
(Bt 5 714F)
CTPAR12 CTPAL12 12 | 12 | 12 | 12 (For Right-hand
Toolholder)
CTPAR16 CTPAL16 16 | 16 | 16 | 16 16
B CTPAL**x
CTPAR20 CTPAL20 20 | 20 | 20 | 20 (B 5 7 3%)
(For Left-hand
CTPAR25 CTPAL25 25| 25| 25 | 25 Toolholder)

NOTE:CTP TBP TTPS CTP

CTPA TBPA TTP CTPA

/CTP TBP TTPS use the CTP holder;

/ CTPA TBPA TTP use the CTPA holder.

26



MGGN 15 E 1] & )] T

MGGN Grooving&Cut-off Inserts

H

iy -

L
¥ fz:mm
Unit:mm
A2 R~ MR
= Dimensions Grades
Designation
L B d h R 0OTO7225 | OTO7225C | OTO7226 H10
MGGN150-V 16 1.5 1.2 3.5 0.15 (] ® ® ®
MGGN200-V 16 2.0 1.6 3.5 0.2 ® ® ® [ ]
MGGN250-V 18.5 2.5 2.0 3.85 0.2 ‘ ‘ ‘ ‘
MGGN300-V 21 3.0 2.35 4.8 0.4 ® ® ® ®
MGGN400-V 21 4.0 3.3 4.8 0.4 ® ® ® ®
MGGN500-V 26 5.0 4.1 5.8 0.8 [ ] [ ] [ ] [ ]
MGGN600-V 26 6.0 5.0 5.8 0.8 ® ® ® ®
\IEE AR | 1]z
MGGN & E & O]
MGGN Cut-off Inserts
B L d
(] m =
P L | i
-V08/15L & _v08/15R
#4z:mm
Unit:mm
5l o R~ R
= Dimensions Grades
Designation
L B d h 6 OTO7225 | OTQ7225C | OTOT7226 H10
MGGN150-VO8R | MGGN150-V08L 16 1.5 1.2 3.5 ® ® [ ] [ ]
MGGN200-VO8R | MGGN200-V08L 16 2.0 1.6 3.5 ® ® ® ®
MGGN250-VO8R | MGGN250-V08L 18.5 2.5 2.0 3.85 8° ® ® ® ®
MGGN300-VO8R | MGGN300-V08L 21 3.0 2.35 4.8 ® ® [ ] ®
MGGN400-VO8R | MGGN400-V08L 21 4.0 3.3 4.8 ® ® ® ®
MGGN150-V15R | MGGN150-V15L 16 1.5 1.2 3.5 ® ® ® ®
MGGN200-V15R | MGGN200-V15L 16 2.0 1.6 3.5 [ ] ® [ ] ®
MGGN250-V15R | MGGN250-V15L 18.5 2.5 2.0 3.85 15° ® ® ® ®
MGGN300-V15R | MGGN300-V15L 21 3.0 2.35 4.8 ® ® ® ®
MGGN400-V15R | MGGN400-V15L 21 4.0 3.3 4.8 ® ® ® ®

27




MRMN/MGMN V] & /] J]

MRMN/MGMN Grooving&Cut-off Inserts

Y77/ A=l

R~f R
Bs Dimensions Grades
Designation L B d h R 0TO7225 |OTO7225C |OTO7226 | H10
MGMN150-M/G/T/C/J/DR 16 1.5 1.2 3.5 0.15 [ ] ® ® ®
MGMN200-M/G/T/C/J/DR 16 2.0 1.6 3.5 0.2 ] ] ® ®
MGMN250-M/G/T/C/J/DR 18.5 2.5 2.0 3.85 0.2 ® ® ® ®
MGMN300-M/G/T/C/J/DR 21 3.0 2.35 4.8 0.4 [ ] ® ® ®
MGMN400-M/G/T/C/J/DR 21 4.0 3.3 4.8 0.4 ® ® ® ®
MGMN500-M/G/T/C/J/DR 26 5.0 4.1 5.8 0.8 [ ] [ ] @ [ ]
MGMN600-M/G/T/C/J/DR 26 6.0 5.0 5.8 0.8 ® [ ] ® ®
MRMN200-M 16 2.0 1.6 3.5 1.0 [ ] ® ® ®
MRMN300-M 21 3.0 2.35 4.8 1.5 ® ® ® ®
MRMN400-M 21 4.0 3.3 4.8 2.0 ® ® ® ®
MRMN500-M 26 5.0 4.1 5.8 2.5 ® ® ® ®
MRMN600-M 26 6.0 5.0 5.8 3.0 ® ® ® ®




MGEHR/L ] #& Y] &7 71 4F

MGEHR/L Grooving&cut-off Toolholder Tmax
F © B
SJ L
BrAhEFNL
Right-hand Tool shown h H ¥ {z:mm
Unit:mm
it R~ e =
Designation Dimension Spare Parts
e 85 | NAIRF
- R /\
4 F Right EF Left H| B | h F L |Tmax Serew | Hex Wrench
MGEHR1616-1.5 | MGEHL1616-1.5 16 16 16 | 16.2 | 100
MGMN150-*
MGEHR2020-1.5 | MGEHL2020-1.5 20 20 20 | 20.2| 125 LTX0514 L2.0
MGGN150-*
MGEHR2525-1.5 | MGEHL2525-1.5 25 25 25 [25.25| 150
MGEHR1212-2 MGEHL1212-2 12 12 12 |14.25( 100 14
MGMN200-*
MGEHR1616-2 MGEHL1616-2 16 16 16 [16.25| 100
MRMN200-*
MGEHR2020-2 MGEHL2020-2 20 20 20 [20.25| 125
MGGN200-*
MGEHR2525-2 MGEHL2525-2 25 25 25 [25.25| 150 MHA0512 L4.0
MGEHR1616-2.5 | MGEHL1616-2.5 16 16 16 | 16.3 | 100
MGMN250-*
MGEHR2020-2.5 | MGEHL2020-2.5 20 20 20 | 20.3| 125 16
MGGN250-*
MGEHR2525-2.5 | MGEHL2525-2.5 25 25 25 | 25.3 | 150
MGEHR1616-3 MGEHL1616-3 16 16 16 [16.35| 100
18
MGEHR2020-3 MGEHL2020-3 20 20 20 | 20.4 | 125
MGEHR2020-3-T10 | MGEHL2020-3-T10 | 20 20 20 | 20.4 | 125 10 MGMN300-*
MGEHR2525-3 MGEHL2525-3 25 25 25 | 25.4 | 150 18 MRMN300-*
MGEHR2525-3-T10 | MGEHL2525-3-T10 | 25 25 25 | 25.4 | 150 10 MGGN300-*
MGEHR3232-3 MGEHL3232-3 32 32 32 | 32.4 | 170 18
MGEHR3232-3-T10 | MGEHL3232-3-T10 | 32 32 32 | 32.4 | 170 10
MGEHR2020-4 MGEHL2020-4 20 20 20 | 20.4 | 125 18
MGEHR2020-4-T10 | MGEHL2020-4-T10 | 20 20 20 | 20.4 | 125 10
MGMN400-*
MGEHR2525-4 MGEHL2525-4 25 25 25 | 25.4 | 150 18
MRMN400-*
MGEHR2525-4-T10 | MGEHL2525-4-T10 | 25 25 25 | 25.4 | 150 10
MGGN400-*
MGEHR3232-4 MGEHL3232-4 32 32 32 | 32.4 | 170 18
BHA0616 L5.0
MGEHR3232-4-T10 | MGEHL3232-4-T10 | 32 32 32 | 32.4 | 170 10
MGEHR2020-5 MGEHL2020-5 20 20 20 | 20.5| 125 23
MGEHR2020-5-T15 | MGEHL2020-5-T15| 20 20 20 | 20.5| 125 15
MGMN500-*
MGEHR2525-5 MGEHL2525-5 25 25 25 | 25.5| 150 23
MRMN500-*
MGEHR2525-5-T15 | MGEHL2525-5-T15 | 25 25 25 | 25.5| 150 15
MGGN500-*
MGEHR3232-5 MGEHL3232-5 32 32 32 | 32.5| 170 23
MGEHR3232-5-T15 | MGEHL3232-5-T15 | 32 32 32 | 32,5 | 170 15
MGEHR2020-6 MGEHL2020-6 20 20 20 | 20.6 | 125 23
MGEHR2020-6-T15 | MGEHL2020-6-T15 | 20 20 20 | 20.6 | 125 15
MGMG600-*
MGEHR2525-6 MGEHL2525-6 25 25 25 | 25.6 | 150 23
MRMN600-*
MGEHR2525-6-T15 | MGEHL2525-6-T15| 25 25 25 | 25.6 | 150 15
MGGN600-*
MGEHR3232-6 MGEHL3232-6 32 32 32 | 32.6 | 170 23
29|MGEHR3232-6-T15 MGEHL3232-6-T15| 32 32 32 | 32.6 | 170 15




MGIVR/L N VI8 ]

MGIVR/L Internal Grooving Toolholder

r.T@_‘_'ﬁ_ ''''''''''''' T )
Tmax 7 L L H CBEAEFAR
r 1 Right-hand Tool shown
/
—
- =] —-—-—- +
' #4z:mm
Unit:mm
= =I=
Designation Dimension Spare Parts
Inserts 12 5 ~
. . 3] NAEF
A F Right EF Left H | D | F| L |L: DminTmax Serew | Hex Wrench
MGIVR2016-1.5 | MGIVL2016-1.5 | 15 | 16 | 11.3| 125 | 35 | 20 MHB0310 L3.0
MGMN150-*
MGIVR2520-1.5 | MGIVL2520-1.5 | 18 | 20 | 13.1| 150 | 45 | 25 | 3:5
MGGN150-* | MHA0512 L4.0
MGIVR2925-1.5 | MGIVL2925-1.5 | 23 | 25 | 16.2| 200 | 45 | 29
MGIVR2016-2 MGIVL2016-2 15 | 16 |12.4| 125 | 35 | 20 MGMN200-* | MHB0310 L3.0
MGIVR2520-2 MGIVL2520-2 18 | 20 | 14.0| 150 | 45 | 25 MRMN200-*
MHA0512 L4.0
MGIVR2925-2 MGIVL2925-2 23 | 25 [17.2| 200 45 | 29 MGGN200-*
4.5
MGIVR2016-2.5 | MGIVL2016-2.5 | 15 | 16 | 12.5| 125 | 35 | 20 MHB0310 L3.0
MGMN250-*
MGIVR2520-2.5 | MGIVL2520-2.5 | 18 | 20 | 15.1| 150 | 45 | 25
MGGN250-*
MGIVR2925-2.5 | MGIVL2925-2.5 | 23 | 25 | 18.2| 200 | 45 | 29
MGIVR2520-3 MGIVL2520-3 18 | 20 | 15.6| 150 | 45 | 25 5 MGMN300-*
MGIVR3125-3 MGIVL3125-3 23 | 25 [ 18.9| 200 45 | 31 MRMN300-*
MHA0512 L4.0
MGIVR3732-3 MGIVL3732-3 30 | 32 [21.5| 250 65 | 37 MGGN300-*
MGIVR2520-4 MGIVL2520-4 18 | 20 | 156 150 | 45 | 25 6 MGMN400-*
MGIVR3125-4 MGIVL3125-4 23 | 25 [ 18.9| 200 45 | 31 MRMN400-*
MGIVR3732-4 MGIVL3732-4 30 | 32 [21.5| 250 65 | 37 MGGN400-*
MGIVR3125-5 MGIVL3125-5 23 | 25 [ 19.4| 200 45 | 31 MGMN500-* | BHA0616
MRMN500-*
MGIVR3732-5 MGIVL3732-5 30 | 32 [21.5| 250 65 | 37 . MGGN500-* | BHA0620 5o
MGIVR3125-5 MGIVL3125-5 23 | 25 [19.4]| 200 | 45 | 31 MGMN600-* | BHAO0616 '
MRMNB600-*
MGIVR3732-6 MGIVL3732-6 30 | 32 [21.5| 250 65 | 37 MGGNG00-* | BHA0620

30



TDC/TDJY]#E ik T]

TDC/TDJ Grooving&Cut-off Inserts

TDC TDJ
ﬁ _—
i .
R d R d
- B MS==
#4z:mm
Unit:mm
Al 2 Rt R
= Dimensions Grades
Designation
9 L B d R OTO7225 | OTO7225C |OTO7226 | H10
TDC2 20 2.0 1.7 0.2 ® ® ® ®
TDC3 20 3.0 2.4 0.2 ® ® ® ®
TDC4 20 4.0 3.0 0.3 ® ® ® ®
TDC5 25 5.0 4.0 0.3 ® ® ® ®
TDJ2 20 2.0 1.7 0.2 ® ® ® ®
5 20 3.0 2.4 0.2 ® ® ® ®
TDJ4 20 4.0 3.0 0.3 [ ] [ ] [ ] [ ]
TDJ5 25 5.0 4.0 0.3 ® ® ® ®

31



TT V1B YIE ]+

TT Grooving&Cut-off Toolholder

- :

- Tmax
© a
BEAEFAR
= L Right-hand Tool shown
#4z:mm
Unit:mm
= =1=
Designation Dimension Spare Parts
Inserts 12857 | AT
i % 7~
EE‘F s ZE$ Left H B h L Tmax Screw Hex Wrench
TTER1616-2 TTEL1616-2 16 16 16 100
TTER2020-2 TTEL2020-2 20 20 20 125 14 TDC/J2
TTER2525-2 TTEL2525-2 25 25 25 150
M5*16 L4.0
TTER1616-3 TTEL1616-3 12 12 12 100
TTER2020-3 TTEL2020-3 16 16 16 125 TDC/J3
TTER2525-3 TTEL2525-3 20 20 20 150 18
TTER2020-4 TTEL2020-4 25 25 25 125
TDC/J4 M6*16 L5.0
TTER2525-4 TTEL2525-4 16 16 16 150
TTER2525-5 TTEL2525-5 20 20 20 150
23 TDC/J5 M8*20 L6.0
TTER3232-5 TTEL3232-5 25 25 25 170
TT R T4 |
TT Intenal Grooving Toolholder ﬁ — T L
L |
X L1 |
[} f
_ O — — —]
E BRA%F 0L
Right-hand Tool shown
B # fz:mm
Unit:mm
) =
e Rt Tt
Designation Dimension mRETR Spare Parts
- - Inserts 9257 NARF
4 F Right EF Left H |Tmax | Dmin L1 L Screw Hex Wrench
TTIR16-2C TTIL16-2C 16 8.5 125
TTIR20-2C TTIL20-2C 20 5.8 25 20 160 TDC/J2
TTIR25-2C TTIL25-2C 25 5.0 200 M5716 L4.0
TTIR20-3C TTIL20-3C 20 5.8 20 160
TTIR25-3C TTIL25-3C 25 5.0 200 TDC/J3
TTIR32-3C TTIL32-3C 32 4.8 31 60 250
TTIR20-4C TTIL20-4C 20 5.8 05 20 160
TTIR25-4C TTIL25-4C 25 5.0 200 TDC/J4 M6*16 L5.0
TTIR32-4C TTIL32-4C 32 4.8 31 60 250
TTIR25-5C TTIL25-5C 25 5.2 25 40 200
TDC/J5 M8*20 L6.0
TTIR32-5C TTIL32-5C 32 4.7 31 60 250

32



TQJ27 VIR T] H/

TQJ Grooving&Cut-off Inserts

¥ 4z:mm
Unit:mm
Al 2 R~¥ M R
= Dimensions Grades
Designation
w B A h R 0TO7225 | OTO7225C |OTO7226 H10
TQJ27-100-010 1.00 3.5 0.10 ® ® ® ®
TQJ27-150-020 1.50 5.7 ® ® ® ®
0.20
TQJ27-200-020 2.00 ® ® ® ¢
TQJ27-250-030 2.50 0.30 ® ® @ ®
27 4
TQJ27-300-020 3.00 0.20 ® ® ® ®
6.4
TQJ27-300-040 3.00 0.40 ® ® ® ®
TQJ27-350-020 3.50 ® ® ® ®
0.20
TQJ27-400-020 4.00 ® ® ® ®
¥ 43:mm
Unit:mm
B = T A5 [E B ZEDmax
Designation
9 B<3.0| B<3.5| B<4.0|B<4.5 | B<5.0| B<5.5|B<5.7 | B<6.0 | B<6.2 | B<6. 4
TQJ27-100-010 BRI
TQJ27-150-020 IR 50
TQJ27-200-020 % IR
TQJ27-250-030 % IR
600
TQJ27-300-020 BRI 280 180 130 105 95 85 75 55
TQJ27-300-040 F IR
TQJ27-350-020 F IR
TQJ27-400-020 DR

33




TQJ27 Y1 1E VIah 7] #F

TQJ Grooving&Cut-off Toolholder

1 & =
_ —
v
\
(2]
L BrhsEF18
Right-hand Tool shown §
¥ 45:mm
Unit:mm
=
e R 4
Designation DA e ian BEETR Spare Parts
Right Left L Inserts B2 5T IR F
AF . EFLe H h B Screw Torx Wrench
TQHR10-27 TQHL10-27 10 10 10
TQHR12-27 TQHL12-27 12 12 12
120
TQHR16-27 TQHL16-27 16 16 16 TQJ27*** M5*16 T20
TQHR20-27 TQHL20-27 20 20 20
TQHR25-27 TQHL25-27 25 25 25 135

34



PEN24N I # Y] T] H

PENTA24N Grooving&Cut-off Inserts

35

PENTA 24NO50PF005 0.50 0.05 0.02 0.020 2.50 6.0
PENTA 24N075PF005 075 0.05 0.02 0.020 2.50 6.0
PENTA 24N095PF005 0.95 0.05 0.02 0.020 4.00 6.0
PENTA 24N100P005 1.00 0.05 0.02 0.020 3.50 12.0
PENTA 24N100PF010 1.00 0.10 0.02 0.020 4.00 6.0
PENTA 24N125PF020 1.25 0.20 0.02 0.020 5.00 6.0
PENTA 24N145PF020 1.45 0.20 0.02 0.020 6.20 6.0
PENTA 24N150P005 1.50 0.05 0.02 0.020 5.00 12.0
PENTA 24N150PF020 1.50 0.20 0.02 0.030 6.00 6.0
PENTA 24N175PF020 1.75 0.20 0.02 0.030 6.20 6.0
PENTA 24N185PF020 1.85 0.20 0.02 0.030 6.00 6.0
PENTA 24N200P005 2.00 0.05 0.02 0.020 6.00 12.0
PENTA 24N200PF020 2.00 0.20 0.02 0.030 6.50 6.0
PENTA 24N230PF020 2.30 0.20 0.02 0.030 6.20 6.0
PENTA 24N239PF015 2.39 0.15 0.02 0.030 6.50 6.0
PENTA 24N250PF020 2.50 0.20 0.02 0.030 6.50 6.0
PENTA 24N300PF020 3.00 0.20 0.02 0.030 6.50 6.0
PENTA 24N300PF030 3.00 0.30 0.02 0.030 6.20 6.0
PENTA 24N400PF020 4.00 0.20 0.02 0.030 6.520 6.0
PENTA 24N400PF040 4.00 0.40 0.02 0.030 6.20 6.0




7= T A 4ME B FDmax
Designation
g B<3.0| B<3.5 <4.0/ B<4.5| B<5.0| B<5.5|B<5.7 ([B<6. 0| B<6.2| B<6.4
PENTA24N050 20
PENTA24N100 T IR 1 250
PENTA24N150 T IR 1
PENTA24N200 e BR 4 50 20
210
PENTA24N250 e BR 3
470
PENTA24N300 F IR %)
PENTA24N350 e IR 1
180 120 80 70 60
PENTA24N400 T IR 1
V)7
PENTA24 N1l & {17 ] #F
PENTA24N Grooving&Cut-off Toolholder
L
< - =
(1]
R ETE Y
Right-hand Tool shown .
#4z:mm
Unit:mm
=
25 Rt T
Designation Dimension BETNR Spare Parts
Right Left L Inserts 15T BIERF
E%E J ZEEF € H h B Screw Torx Wrench
PCHR10-24 PCHL10-24 10 10 10
PCHR12-24 PCHL12-24 12 12 12
120
PCHR16-24 PCHL16-24 16 16 16 PENTA24N*** M5*16 T20
PCHR20-24 PCHL20-24 20 20 20
PCHR25-24 PCHL25-24 25 25 25 | 135

36




PEN34N I #E YT /

PENTA34N Grooving&Cut-off Inserts

37

0.0

R
= R 0 0 )
PENTA 34N150PB015 1.50 0.15 0.02 0.030 8.00
PENTA 34N200PB020 2.00 0.20 0.02 0.030 8.00
PENTA 34N300PB020 3.00 0.20 0.02 0.030 8.00
PENTA 34N150C015 1.50 0.15 0.02 0.030 8.00
PENTA 34N200C020 2.00 0.20 0.02 0.030 8.00
PENTA 34N200C100 2.00 1.00 0.02 0.030 8.00
PENTA 34N222C015 2.22 0.15 0.02 0.030 8.00
PENTA 34N230C020 2.30 0.20 0.02 0.030 8.00
PENTA 34N239C015 2.39 0.15 0.02 0.030 8.00
PENTA 34N239C120 2.39 0.20 0.02 0.030 8.00
PENTA 34N247C020 2.47 0.20 0.02 0.030 8.00
PENTA 34N250C020 2.50 0.20 0.02 0.030 8.00
PENTA 34N270C010 2.70 0.10 0.02 0.030 10.00
PENTA 34N287C020 2.87 0.20 0.02 0.030 10.00
PENTA 34N300C000 3.00 0.00 0.02 0.030 10.00
PENTA 34N300C020 3.00 0.20 0.02 0.030 10.00
PENTA 34N300C040 3.00 0.40 0.02 0.030 10.00
PENTA 34N300C150 3.00 0.50 0.02 0.030 10.00
PENTA 34N315C015 3.15 0.15 0.02 0.030 10.00
PENTA 34N318C020 3.18 0.20 0.02 0.030 10.00
PENTA 34N330C010 3.30 0.10 0.02 0.030 10.00
PENTA 34N348C020 3.48 0.20 0.02 0.030 10.00
PENTA 34N350C025 3.50 0.26 0.02 0.030 10.00
PENTA 34N398C020 3.98 0.20 0.02 0.030 10.00
PENTA 34N400C030 4.00 0.30 0.02 0.030 10.00




¥ fz:mm

Unit:mm
= T #4ME & FDmax
Designation
9 B<5.0 B<6.0 B<7.0 B<8.0 B<8.5 B<9.0 B<10.0
PENTA34N150 To BR
PENTA34N200 T PR 1
PENTA34N250 Te PR
350 165 100 55
PENTA34N300 Te PR )
55 20
PENTA34N350 Te PR
PENTA34N400 Te PR )
12
PENTA34N1] & ]l 7] #F
PENTA34N Grooving&Cut-off Toolholder
L
= I 0
Lf “
BrhEFTE
Right-hand Tool shown N
¥ 45:mm
Unit:mm
] = =
i R~t e o
Designation Dimension BEEJR Spare Parts
Right Left L Inserts B2 5T IR F
AT = e H h B Screw Torx Wrench
PCHR16-34 PCHL16-34 16 16 16
120
PCHR20-34 PCHL20-34 20 20 20
PENTA34N*** M5*16 T20
PCHR25-34 PCHL25-34 25 25 25
135
PCHR32-34 PCHL32-34 32 32 32

38



TTX32: BB TI A

TTX32 Threading Inserts

S1 BFEALFAR
32 Right-hand Tool shown
T ¥ 43:mm
Unit:mm
A5 42 Bh Rt ¥
Designation Pitch Dimensions Grades
A F Right A FLeft | A® ”g@m A | T |ed| 8 | R | S1 | S2 |ororzes |otorzesc| oTorazs|  Hio
TTX32R6000 TTX32L6000 |o0.5~1.0 | 56~32 0.00 [ ] [ ] [ ] [ ]
0.6 [1.12
TTX32R60005 [ TTX32L60005 | 0.5~1.0 | 48~32 0.05 [ ] [ ] [ ] [ ]
TTX32R6001 TTX32L6001 | 1.0~2.0 [ 28~14 60° | 0.10 | 1.1 | 1.62 [ ] [ ] [ ] [ ]
TTX32R6000S | TTX32L6000S 0.5 56~48 | 9.525| 3.18 | 4.4 0.00 [ ] [ ] ® ®
0.3 |1.12
TTX32R60005S | TTX32L60005S 0.5 48 0.05 ® ® [ ] ®
TTX32R5501 TTX32L5501 28~19 0.10 | 0.75 | 1.01 ® ® ® ®
55°
TTX32R55015 | TTX32L55015 29~11 0.15| 1.2 |1.46 ® ® [ ] [ ]
M 4132 5(1SO) | R. RC(PT)(BSPT) : 4 4 ¥4 '
@& R ERAC | UN: #4183 W E &K B R ANRARFHEAN
. The inserts have no wiper.
APPICaDIE TTed | )N o ) 4m o 38 s | NPT 5k #1452 — AR T T 5 AR,
G(PF): 1% %% Alnsert can process multiple pitches
KTTX MEZZETIH ]
KTTX External Threading Toolholder d
F
L ~-
| ] —_.1.
H2 BFHhsF70AR
A oo T B S S Right-hand Tool shown
K 1 | = * Can cuttotH‘errootofthethread
- EFANRELEFNREREF DR ELEFNIFRER .
Right Insert for Right Toolholder,Left Insert for left toolholder.
H1 ¥ 4z:mm
Unit:mm
Al 2 R~ TH
e Dimension Spare Parts
Designation B2 4T IR F
H h B F Hi | H: L | L Screw | Torx Wrench
KTTXR1010K-16F KTTXL1010K-16F 10 10 10 10 2
KTTXR1212K-16F KTTXL1212K-16F 12 12 12 12
25 |17.6 | 125 M4*8 T15
KTTXR1616K-16F KTTXL1616K-16F 16 16 16 16
KTTXR2020K-16F KTTXL2020K-16F 20 20 20 20

39




TT32 3 KLY

TT32 Threading Inserts

Al

B4 %5705
T Right-hand Tool shown # 42:mm
Unit:mm
=
A= 42 75 Rt R
Designation Pitch Dimensions Grades
A F Right| ZF Left | A%/1SOw| %# NS A | T |ed| @ | R | otor2es |oTor22sc | OTO7226 | H10
TT32R6000 | TT32L6000 0.5~2.5 56~10 0.00 [ ] [ ] [ ] [ ]
TT32R6001 | TT32L6001 1.0~2.5 24~10 0.10 ® [ ® ®
60°
TT32R6002 | TT32L6002 1.5~2.5 16~10 0.20 ® ® ® [ ]
TT32R6003 | TT32L6003 2.5 1~10 | 9.525 | 3.18| 4.4 0.30 ® ® ® ®
TT32R5501 | TT32L5501 28~10 0.10 ® ® ® [ ]
55°
TT32R5502 TT32L5502 14~10 0.20 ® ® ® )
M i #]3%4(1SO) | Re RC(PT)(BSPT) : 4 4 4% % |
: N ; . i . AR RFEERD .
i R IR | UN:EHEs W3t B &R R s The inserts have no wiper.
Applicable Thread | )\ ¢ ) s 7 422 | NPT £ #1448 4 —ATB T e LB AR IE
Alnsert can process multiple pitches
G(PF): H 43R4
KTT /MEXE T
KTT External Threading Toolholder
| -
—
L1 L .
:s° T
_=' ©)
‘ < BrALEFIR
[ ._* — Right-hand Tool shown
I ¥ 4z:mm
Unit:mm
7l = R~¥ =
= Dimension Spare Parts
Designation 1247 wBERF
H h B F|H | H: | L | L Screw | Torx Wrench
KTTR1010K-16 KTTL1010K-16 10 | 10 10 | 10 4
KTTR1212K-16 KTTL1212K-16 12 | 12 12 | 12 2
125
KTTR1616K-16 KTTL1616K-16 16 | 16 16 | 16 25| 18 M4*8 T15
KTTR2020K-16 KTTL2020K-16 20 | 20 | 20 | 20
KTTR2525M-16 KTTL2525M-16 25 | 25 | 25 | 25 150

40



TKFT Xy TR

TKFT Threading Inserts

41

ed R
” ' :
It i W
o
R €
I
CEERE SN
Right-hand Tool shown ¥ 4z:mm
Unit:mm
g 42 55 Rt R
Designation Pitch Dimensions Grades
- |
A F Right 7 TF Left |S/‘§,Tn”m, “ﬁ?&;',“ri.'m H T | od e R S1 |oTo7225 |oTo72256 | OTO7228|  H10
TKFT12RA60005 | TKFT12LA60005 | 0.5~1.25| 48-24 [ [ ® ®
0.05 | 0.8
TKFT12RB60005 | TKFT12LB60005 | 0.5~1.25 48~24 60° ® ® ® ®
TKFT12RN6001 | TKFT12LN6001 | 1.0~2.0 | 24~12 0.10 | 1.25 ® ® ® ®
TKFT12RA55005 | TKFT12LA55005 48~24 | 8.7 3.0 ® ) ) )
0.05 | 0.8
TKFT12RB55005 | TKFT12LB55005 48~24 55° ® ® ® ®
TKFT12RN5501 | TKFT12LN5501 24~12 0.10 | 1.5 ® ® ) )
5.0
TKFT16RA60005 | TKFT16LA60005 | 0.5~1.25 48~24 ® ® ® ®
.| 005 08
TKFT16RB60005 | TKFT16LB60005 | 0.5~1.25 48~24 60 ® ® ® ®
TKFT16RN6001 | TKFT16LN6001 | 1.0~3.0 | 24~8 0.10 | 1.75 [ ] [ ] [ ] [ ]
9.5 4.0
TKFT16RA55005 | TKFT16LA55005 48~24 ® ® ® ®
. | 005 08
TKFT16RB55005 | TKFT16LB55005 48~24 55 ® ® ® ®
TKFT16RN5501 | TKFT16LN5501 24~8 0.10 | 1.75 ® ® ® ®
@ 74T IRTKF12/16RE) & 1 87 7] & A
4 1 HE 4 7
TIR1EF 15
TKFT12/16RN**** TKFT12/16RA**** TKFT12/16RB****

TKFT12/16LN****

TKFT12/16LA****

TKFT12/16LB****




TTP/ITTPA RBEXTI R

TTP/TTPA Threading Inserts

@d R
7:: : 1 /
’ ' ' hl jﬁ //———3——% @
™
A © TN\
B s TR
Right-hand Tool shown ¥ {z:mm
Unit:mm
U= 12 25 R~ M B
Designation Pitch Dimensions Grades
4 F Right 7 F Left B (ﬁﬂ | H T | @d e R | S1 | otor2e5 |oTO7205C| OTO7226|  H10

TTP60FR-5A TTP6OFL-5A | 0.25-1.0 60° ® ® ® ®

TTP55FR-5A TTP55FL-5A 55° [ ] [ ] [ ] [ ]
48~24 0.5

TTP60FR-5B TTP6OFL-5B | 0.25~1.0 60° ® ® ® ®

TTP55FR-5B TTP55FL-58 80 | 25 55° ® ® ® ®

TTP6OFR-N TTP6OFL-N 0.5~2.0 60° ® ® ® ®
48~12 1.25

TTP55FR-N TTP55FL-N 55° ® ® ® ®

5.0 0.05

TTPAGOFR-5A | TTPAGOFL-5A | 0.25-1.0 60° ® ® ® ®

TTPA55FR-5A | TTPA55FL-5A 55° ® ® ® ®
48~24 0.5

TTPAGOFR-5B | TTPA6OFL-5B | 0.25~1.0 60° ® ® ® ®

9.4 3.5
TTPA55FR-5B | TTPA55FL-5B 55° ® ® ® ®
TTPA6OFR-N TTPAGOFL-N | 0.5~3.0 | 488 60° ® ® ® ®
1.6
TTPA55FR-N TTPA55FL-N 24~8 55° ® ® ® ®
@ /1T ERCTP/CTPAY HE £ 7 7] 18 B
EF7]
wHER EZEHIR wRER BEHIR
TIRFAR: TIRFAR: TIRFAR: TJIRFIR
AR B#& AR

SENE
PALis TTPR JIFF TTPR JIFF TTPL JIFF TTPL
s TTP FR A Al TTP FR B Al TTP FL B Al TTP FL A

42



TKFB& XTI R/

TKFB BackTurning Insert

B

ed

B
S

\W

= K@K -

BrAEFIL
Right-hand Tool shown #45mm
Unit:mm
o R~t R
i) Dimensions Grades
peSlonatics W B T H | od a R | 0107225 |0TO7225¢C | OTO7226 H10
TKFB12R15005 15 | 2.6 [ ] ® ® ®
0.25 | 0.05
TKFB12R28005 2.0 a6 3.0 8.7 ® ® ¢ ®
TKFB12R28010 25 | 5.2 00| ® ® ® ®
TKFB16R38005 03 | 0.05 ® ® ® ®
3.8 | 6.3 40 | 95
TKFB16R38010 0.10 ® ® ® ®
@ 71T ERTKF12/16REN & L1 17 7] 5 38 A
dk
ABS/ABWEZETIH
ABS/ABW BackTurning Insert 4‘;"
w X 15% 0—-.5q$
2.8 N/ I
r ©
15y w04 / </_ |
5 & o
= 40 L
-
e 7 V
, |
L / / R4 ]
R/ o
BrALFIE
BrHhEF7R Right-hand Tool shown
Right-hand Tool shown ﬁrﬁm"m“
o R~ R
) Dimensions Grades
Designation
9 L W T R OTO7225 | OTO7225C | OTO7226 H10
ABS15R4005 15.4 70 397 0.05 ® ® ® ®
ABS15R4015 0.15 ® ® ® ®
ABW23R5005 0.05 ® ® ® ®
23.4 7.0 3.97
ABW23R5015 0.15 ® ® ® ®

43



ABSE EJ]H

ABS BackTurning Toolholder

T S
3 X [
w F [ —
4
~F ]
L -
A
am : :
B &A% F R
' Right-hand Tool shown o
¥ 4z:mm
Unit:mm
5l = R~ RETF T
= Dimension Spare Parts
Designation 1247 HWIERF
H h B F1 T L 6 Inserts Screw Torx Wrench
SABSR1010K-40F 10 10 10 [10.2
SABSR1212K-40F 12 12 12 |12.2 ABS15R***
4.2 1125 | 30° (o 71 47) M3*8 T10
SABSR1616K-40F 16 16 16 |16.2 (For Righ)t—hand
Toolholder
SABSR2020K-40F 20 20 20 |20.2
dke
ABW-50F &5 £ J] T
ABW-50F BackTurning Toolholder
T
‘ Y
w @
0 L _
[}
N :
BT A% F R
Right-hand Tool shown Lo
#4z:mm
Unit:mm
7l = R~ BETF T
= Dimension Spare Parts
Designation B2 4T IR F
H h B F1 T L 0 Inserts Screw Torx Wrench
SABWR1010K-50F 10 10 10 |10.2
SABWR1212K-50F 12 12 12 [12.2 ABW23R***
8.2 125 | 40° (Bt F 7147) M4*8 T15
SABWR1616K-50F 16 16 16 |16.2 (For Righ)t—hand
Toolholder
SABWR2020K-50F 20 20 20 [20.2

44



WEZE T B RN

AR5 ERRER 1& 2 I i &R E BANALs |NAERE
VA o2 ] ENTASE | s
B 4 I 2 890, finishing
.25mm/reviy v ogr
== é_ — g o T Sei:i’i”” T
finishing
semi-
p 2.2 £ 58 by ) finishing
JA oz | Enanht | e
c 14° #T 0. 35mm/r‘ev o T
—_— - gﬁm%lﬁm roughing
. semi-
/£ . o ‘ finishing
i- - B
o finishing
' 5 = PR, T ,
18 itk 2 Fa 40 3K low feedi
‘ 14.,% E%Hj', ’&ﬁT ow feeding
J S0 g AR 7 35 ) 1534 %
WE. ERA
I L
A 7] K LA TR
2 ‘ o i%%@zyim finishing
= ‘1. ’)‘; ~ A Fﬂ- I a
il % 18] 4 4 41 A
IR % HE H o
RS EHT low feeding
. ‘ 300\& i{%iﬂ«%f%
AE 71 5K 32 .
U > 2 - = et 2
7 e T A T
(A
semi-
- o ] R A B finishing
Y %g R % F b T

45




TNGG-S/C/P

T

* _
~
(@ . 3
S —— - —_ \
60°
-S -C -P BaHEF 7R
Right-hand Tool shown
BE R~ MR
Designation Dimensions Grades
AF Right EF Left A T ed R 0T01000 | OTO7225 |OTO7225C | OTO7226 H10
TNGG160401R-S | TNGG160401L-S 0.10 [ ] ® ® ® ®
TNGG160402R-S | TNGG160402L-S 0.20 [ ] [ ] [ ] (] [ ]
TNGG160404R-S | TNGG160404L-S 0.40 ® ® ® ® ®
TNGG160401R-C | TNGG160401L-C 0.10 [ [ [ [ [
TNGG160402R-C | TNGG160402L-C | 9.525| 4.76| 3.81 | 0.20 (] ® ® ® ®
TNGG160404R-C | TNGG160404L-C 0.40 ¢ ¢ ¢ ® ®
TNGG160401R-P | TNGG160401L-P 0.10 ® ® ® ® ®
TNGG160402R-P | TNGG160402L-P 0.20 ® ® ® ® ®
TNGG160404R-P | TNGG160404L-P 0.40 ¢ ¢ ¢ [ [

= RY MR
=35 Dimensions Grades
Designation
A T |®d| R 0T01000 | OTO7225 |OTO7225C | OTO7226 |  H10
TNGG160401HA 0.10 ® ® ® ® ®
TNGG160402HA 0.20 ® ® ® ® ®
TNGG160401UL 0.10 [ ] [ ] [ ] [ [
TNGG160402UL 0.20 [ ] [ ] ® [ ] [
TNGG160401MS 0.10 ® [ ® ® ®
TNGG160402MS 9.525| 4.76| 3.81 | 0.20 ® ® ® [ [
TNGG160404MS 0.40 ® ® ® ® [
TNGG160401CY 0.10 ® ® ® ® ®
TNGG160402CY 0.20 ® ® ® ® ®
TNGG160404CY 0.40 ® ® ® ® [




WNGG-S/C

.

—

A

BFALFNRE

AN

_s _c Right-hand Tool shown
=
ith=s R> IR
Designation Dimensions Grades
AF Right EF Left A T | @d R 0701000 [ QOTO7225 |OTO7225C | OTO7226 H10
WNGG080402R-S [ WNGG080402L-S 0.20 ® [ ] [ ] ® ®
WNGG080404R-S | WNGG080404L-S 127 | 2761 516 0.40 ® ® ® ® ®
WNGG080402R-C | WNGG080402L-C ' ' ' 0.20 ® ® ® ® ®
WNGG080404R-C | WNGG080404L-C 0.40 ® ® ® [ [
o R> IR
=7 Dimensions Grades
Designation
A T | @od R 0701000 | OTO7225 |OTO7225C | OTO7226 H10
WNGG080402MS 0.20 [ ] ® ® [ ] [ ]
WNGG080404MS 0.40
12.7 | 4.76| 5.16 ® ® ® e e
WNGG080402HA 0.20 (] ® ® ® ®
WNGG080404HA 0.40 [ [ ® ® ¢

47




VNGG-H

CEEES KT

Right-hand Tool shown

BE R MR
Designation Dimensions Grades
B3 Right EF Left A T ed R 0T01000 | OTO7225 |OTO7225C | OTO7226 H10
VNGG160402R-H | VNGG160404L-H | o o |, 26| 549 | 020 ® ® ® ® ®
VNGG160404R-H | VNGG160404L-H 0.40 [ ] [ ] [ ] ® [ ]
VNGG-MS A
T
35°
R _°
-]
N
R~ MR
i = Dimensions Grades
Designation
A T ¢ed R 0T01000 | OTO7225 |OTO7225C | OTO7226 H10
VNGG160402MS aes | aom| s |LE2 [ [ [ ® ®
VNGG160404MS 0.40 ® [ [ [ [

48



TBGT/TBGH/TCGT/TPGH-F

49

/ . '
. - |
4 o, \ . ;
N 0
BrHhEF18 60°
Right-hand Tool shown
# 45:mm
Unit:mm
RE R~ MR
Designation Dimensions Grades
A Right i F Left A T od| 6 R | oto1000 | oTo7225 | oTO7225C| OTOT226 H10
TBGT060101R-F | TBGT060101L-F 0.10 [ [ [ [ ®
TBGT060102R-F | TBGT060102L-F | 3.97 | 1.59 5 | 0.20 ® ® ® ® ®
TBGT060104R-F | TBGT060104L-F 0.40 [ [ [ ® ®
2.3
TPGH080201R-F| TPGH080201L-F 0.10 ® ® [ [ ®
TPGH080202R-F| TPGH080202L-F | 4.76 0.20 ® ® ® ® ®
TPGHO080204R-F| TPGH080204L-F 0.40 [ [ [ ) [ ®
2.38
TPGH090201R-F | TPGH090201L-F e Lo ® ® ® ® ®
TPGH090202R-F | TPGH090202L-F | 5.56 2.5 0.20 ® ® ® ® ®
TPGH090204R-F | TPGH090204L-F 0.40 [ [ [ [ [
TPGH110301R-F | TPGH110301L-F 0.10 ® ® ® ® ®
TPGH110302R-F | TPGH110302L-F 0.20 ® ® ® ® ®
TPGH110304R-F | TPGH110304L-F | .| , .| , ¢ 0.40 ® ® ® ® ®
TCGT110201R-F | TCGT110201L-F | 0.10 ® ® [ ] ® ®
TCGT110202R-F | TCGT110202L-F 7° | 0.20 ® ® ® ® ®
TCGT110204R-F | TCGT110204L-F 0.40 ® ® ® ® ®




CCGT-F/U/H

A T
80°
A
R i
sl e
-F -U -H EEE PR S
Right-hand Tool shown ¥ fzmm
Unit:mm
BE R~ MR
Designation Dimensions Grades
5 F Right £ F Left A T | od 6 R 0T01000 | oTO7225 |OTO7225C | OTO7226 H10
CCGT030101R-F| CCGT030101L-F 0.10 ® [ [ ® ®
CCGT030102R-F| CCGT030102L-F | 3.5 | 1.40( 1.9 0.20 ® ¢ ® ® ®
CCGT030104R-F | CCGT030104L-F 0.40 [ ® ® ® @
CCGT040101R-F| CCGT040101L-F 0.10 [ [ ® ® ®
CCGT040102R-F| CCGT040102L-F | 43 | 1.80| 2.3 020 @ ® ® ® ®
CCGT040104R-F | CCGT040104L-F 0.40 [ [ ® ® ®
CCGT060201R-F | CCGT060201L-F 0.10 ® ® ® ® ®
CCGT060202R-F | CCGT060202L-F 7° | 0.20 [ ] [ ] @ ® [
CCGT060204R-F | CCGT060204L-F | o | | 0.40 ® ® ® ® ®
CCGT060201R-U| CCGT060201L-U 0.10 ® ® ® ® ®
CCGT060202R-U| CCGT060202L-U 0.20 ® ® ® ® ®
CCGT060204R-U| CCGT060204L-U 0.40 [ ] [ ] [ ] @ [ ]
CCGT09T301R-U| CCGT0O9T301L-U 0.10 ® [ ] ® ® ®
CCGT09T302R-U| CCGT09T302L-U 0.20 [ ] ® [ ] [ ] [ ]
CCGT09T304R-U| CCGT09T304L-U N e 0.40 [ ] [ ] [ ] @ [
CCGT09T301R-H| CCGT09T301L-H 0.10 ® ® ® ® ®
CCGT09T302R-H| CCGT09T302L-H 0.20 ® ® ® ® ®
CCGT09T304R-H| CCGT09T304L-H 0.40 ® [ ® ® ®
CCGT-YL/CY A .
7;7
5]
# fz:mm
Unit:mm
—_ R> MR
=2 Dimensions Grades
Designation
5] A T ed R 0T01000 | OTO7225 |QTO7225C |OTO7228 H10
CCGT09T301CY 0.10 ® ® ® ® ®
CCGT09T302CY 0.20 [ ] ® [ ] ® ®
CCGT09T304CY o oss| 307 | aa 040 ® ® ® [ ®
CCGTO09T301YL 0.10 ® ® ® ® ®
CCGT09T302YL 0.20 ® ® ® ® [
CCGT09T304YL 0.40 ® @ [ [ ] [

50



DCGT-F/U/H/J

B&hLF R
-F -U -H -J Right-hand Tool shown
ith=] R~ MR
Designation Dimensions Grades
AE Right K F Left A T|ed| O R | 0701000 | oTo7225 |OTO7225C | OTO7226|  H10
DCGT070202R-F | DCGT070202R-F 0.20 [ ] ® [ ] @ @
DCGT070204R-F | DCGT070204R-F 0.40 [ ® ® ® ®
DCGT070201R-U| DCGT070201R-U| 6.35 | 2.38| 2.8 0.10 (] [ ¢ ® ®
DCGT070202R-U|[ DCGT070202R-U 0.20 ® ® ® ® ®
DCGT070204R-U| DCGT070204R-U 0.40 [ [ ® ® ®
DCGT11T301R-F | DCGT11T301R-F 0.10 ® [ [ ® ®
DCGT11T302R-F | DCGT11T302R-F 0.20 [ [ [ ® @
DCGT11T304R-F [ DCGT11T304R-F 7° | 0.40 ® ® [ ® ®
DCGT11T301R-U| DCGT11T301R-U 0.10 ® ® [ [ ®
DCGT11T302R-U| DCGT11T302R-U 0.20 ® ® ® [ ] [ ]
DCGT11T304R-U| DCGTMTI04R-Uf .| . | ,, 0.40 ® ® ® ® ®
DCGT11T301R-J [DCGT11T301R-J 0.10 ® [ ] [ ] @ @
DCGT11T302R-J | DCGT11T302R-J 0.20 ® (] ® ® ®
DCGT11T304R-J | DCGT11T304R-J 0.40 ® ® ® ® ®
DCGT11T301R-H| DCGT11T301R-H 0.10 [ ] [ ] [ [ ] [ ]
DCGT11T302R-H| DCGT11T302R-H 0.20 ® ® ® ® ®
DCGT11T304R-H| DCGT11T304R-H 0.40 [ [ ® [ [
DCGT-YL/CY/ML A
T
-cY
—_ RY MR
=T Dimensions Grades
Designation
(%) A T ed R 0T01000 | OTO7225 |0TO7225C | OTO7226 H10
DCGT11T301CY 0.10 ® ® ® [ [
DCGT11T302CY 0.20 ® ® ® ® ®
DCGT11T304CY o oss| 307 | aa 1040 ® ® ® [ ®
DCGT11T301YL 0.10 ® ® ® ] ®
DCGT11T302YL 0.20 [ ] ® ® ® [
DCGT11T304YL 0.40 [ ] [ ] [ ] [ [
DCGT11T301ML 0.10 ® ® ® ® ®
DCGT11T302ML 0.20 ® ® ® ® ®
DCGT11T304ML 0.40 ® ® ® [ ®

51




§:

VB/VC/VPGT-F/U/Y

\

|

T
A
35°
R 73:
5]

-U BFEALFNL
Right-hand Tool shown ¥ 4z:mm
Unit:mm
BE R MR
Designation Dimensions Grades
A Right EF Left A T | @d 3] R | 0101000 | or07225 |oTOT225¢ | OTOT226 H10
VBGT1103005R-F|VBGT1103005L-F 0.05 ® [ [ [ ®
VBGT110301R-F | VBGT110301L-F 0.10 ® [ ® ® ®
VBGT110302R-F | VBGT110302L-F 0.20 ® [ [ ® ®
VBGT1103005R-Y|VBGT1103005L-Y 57 10.10 [ [ [ ) [ ®
VBGT110301R-Y | VBGT110301L-Y | 6.35 | 3.18| 2.8 0.20 ® ® [ ] [ ] [ ]
VBGT110302R-Y | VBGT110302L-Y 0.05 [ ] [ [ ) ® ®
VBGT110304R-Y | VBGT110304L-Y 0.10 ® ® ® ® ®
VPGT110301R-U | VPGT110301L-U o | L ® @ ® ® ®
VPGT110302R-U | VPGT110302L-U 0.40 ® ® ® ® ®
VCGT160401R-Y | VCGT160401L-Y 0.10 ® ® [ ] ® [ ]
VCGT160402R-Y | VCGT160402L-Y | 9.525| 3.97| 4.4 7° | 0.20 ® ® ® ® ®
VCGT160404R-Y [ VCGT160404L-Y 0.40 [ ] [ ] [ ] [ ] [ ]
T
7'57
R 9
5]
-ML #A3:mm
Unit:mm
= R¥ MR
_§=15 . Dimensions Grades
Designation
e A T ed R 0T01000 OTO7225 [0TO7225C |OTO7226 H10
VBGT110301CY 0.10 [ ] [ ] [ ] [ ] [
VBGT110302CY 0.20 [ ] [ ] [ ] [ ] [ ]
VBGT110304CY 0.40 ® ® ® ® ¢
5 |6.35 | 3.18 | 2.8
VBGT110301YL 0.10 [ [ [ ® ®
VBGT110302YL 0.20 ® ® ® ® ®
VBGT110301ML 0.10 ® ® ® ® ®
VBGT110302ML 0.20 ® [ ) [ ) [ ®

52



53

@d

BrAEFIR e
Right-hand Tool shown
#42:mm
Unit:mm
BE R MR
Designation Dimensions Grades

AE Right 7 F Left A T |ed| O R | 0101000 | oro7225 |oTOT225C | OTOT226 |  H10

WBGT060102R-F| WBGT060102L-F 397 | 159 23 5 0.20 ® ® [ ] [ ] [ ]

WBGT060104R-F| WBGT060104L-F| ' ' 0.40 @ [ ® ® ®




899
2.1 D
+86-731-22283721
+86-731-22283721
412000
info@otomotools.com

I www.otomotools.com

ZHUZHOU OTOMO ADVANCED MATERIAL CO.,LTD
Add R&D Factory Plant, D Zone, Xinma Dynamic Innovation Park China
Power

Valley , No. 899, XianYue Huan road, TianYuan District, Zhuzhou City, Hunan
Province P.R.CHINA

Tel +86-731-22283721

Fax +86-731-22283721

Post code 412000

E-mail info@otomocarbide.com/info@otomotools.com

Website www.otomocarbide.com

Wwww.otomotools.com

~\




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57

